7k hin i

YONGKUNMOTOR

EJ"E_. ﬂ(tﬂa %Hﬁ{ﬁﬁﬁﬁ g2\ E.l

TAIWAN YONGKUN MOTOR CO., LTD.

EEETEL: 00886-2-22861785

{EEFAX: 00886-2-22861261

ik EEAEBE=ET =N 1918335
HTTP: //WWW.YONGKUN-DRIVE.COM

REiHRE

YONGKUN/07-2015/1000



S

YONGKUN MOTOR

) i O 3R 4%/ BB 4% /95 o] 55

WORM GEAR REDUCER /MOTOR /REDIRECTOR

1 NMRV 7 71 8 % 4 4T 5k 528 4%
[ VF 2 51 b8 i o 12
OYKRIIGER=ERT EBHHK
] SWLZ 5| 888 44 #F F P& 1%
[ T 51 % 5 42 25 S 8 1) 25

[ NMRV series Worm Gear Speed Reducer
[] VF series Worm Gear Speed Reducer

[] YK series Asynchronous Motor

[ ] SWL series Worm Gear Screw Lifter

[] T series Spiral Bevel Redirector

HTTP://WWW.YONGKUN-DRIVE.COM




S X

YONGKUN MOTOR YKREFER=HBR ST EE# YK series Asynchronous Motor

H & Contents

ﬁﬁj%ﬁ Company Profile «ooceerrsmermiiiiiiiiiiss s s s s ses s s s s s s e 03
NMRV 2 71| 48 &5 58 41 = 3= 4 NMRV Worm Gear Speed Reducer «rrveeeeeeene 04-36
.. El%ﬂ'ﬁ GENEral FEAtUIBS  srerrvsrrestotmmstiimstissaiassatsastsssssstissnsississsssshsssshissisississssbsssssssissisnssinn 04
2. BUGRERR Designation «reee s ettt 05
3. i%gé‘l%& Type 1= L= eln o 10 B R LR L R T R P R P P R P T PR TP PR PP 06
4. R‘rj" DI IIMIBIIS OIS osvserrerresrsrssasassssssarsassossassssssnsinsssssssssstastsssss sssiasssstssssssississsssssassassassssssssnnsans 08
5. NMRVE E# )% £ 8 NMRY Mounting positions with motor  «roeerrerrersrrsi e 29
6. i H E £ % Combine worm geared motor performance ----------------------------------------------------------- 30
r ﬁgﬂ&ﬂﬁ‘—j‘ Combine worm geared motor size -coeceeee- B P P PR PTR T 1)
8. BHRATEMLRIN Combine mountmg posmons wlth MOLOE +ssevresssssmmuiasisniin e, 34
g, {Em sﬁﬂﬂ% Use's Manual «--c--e-- D LT T TP PP PP PR PP 1.1
VFZ 5 4856 8 EHE VF Worm Gear Speed RedUCer  .ocoiieiiiiiiiiiiiiiiiiinisiiieiinninniiiisssssenenns 3757
1. Bl B PIcture OFPIOAUCTS: | coviimasismaisssivssuammssinsssws oiesainss sissusinsnss d ssusa e siuivaoniss s v sus i in i a7
2 WAL R Modal HIuminate: o vy s v i s S D v i e R o S e L DS s T s 38
3. BUSEEIRE Model HIUMINALE  oovviiriie e e sre s e s st e s e s ar s e st s s s san s e e s annsaass e nes 39
4. BiEWIER R Gear Unit Selection TAbles ......ciiviiiiiiiiiiiici i e e 40
5. 5Mz R <t & Outline Dimension Sheet . e RN -
6. Pt fF R ~F & Accessories Outline Dlmensmn Sheet A RO e F O G R S B e e B
T AT 1T ] ——— 55

YKEFEHB=EBHEHH YK series Asynchronous Motor .......ccccecveevevreneereenn. 5859

SWLE 7 1B 88 44 4T F M #E SWL Worm Gear Screw Lifter ....coccevveeevevvieiieeceeeeeeeienn. 60=71

1SN Picturagt Producls: v samsiiammniiiiasimriiammasiaiiiaindinems 60
2. EEmmiEE Product INtFOdUCHION  :uscesesrsssssansmsminsssnseasnans shorvsinarsasesnasavsspasainnianvemsees snnasaraniasn sove B
3: ZIREWI R Modal Introduction e s iy i i T s e T L e e 61
A B T BAGUIMIOE DMIUONT  cusmmsnumessonssnsmsnosinnsim s s o oo s o e S AR OSSR ESS 62
5. Wi #E [0 $-% Express of Shaft Orientalion’ suaiaimsnmnmmmnimiumin it samres i il s s 82
6. R E N IR L ¥ Capacity and Model SElection  ....co.iveiiiiiii e e B3
T BHAEM Application EXAamMPIE: i oo s iy i i s s v 0 s s S R 64
8. FrPEHEIZE) Model SElaction fOr SCrEW LIfLEI  ovnirie e ee e ee e te e e e e en e en st e e e reee s raeeneensan 65
O TEW AT NONOS wiaines s s ey iy s B SR A R A v T R A 68
10. SWLE 51 8888 454 4T 7 B2 48 S e 22 82 R~ Mounting DIMeNnSIioNS  ...ueeveuieiierieeeienieiiiise e eeeereseaaenies 69

11. SWLDE 55 5 4F 7 Fe i Sh . 22 85 R ~F Mounting DImensions  ...cvvvvvvvieiieiniiinnisssssnesnesinanens 74
TES|ErrEEERE )82 T Series Spiral Bevel Redirector  ......cccccovvevveeeeevvieeennn. 72-80

1. Rl B PICIUtE OF PIOAUCTS: covismasisssnssuymsuainnsinsssws oiesiiass sis e sussnsnsis s usas e s vadnirsp sy bus b s i 79
2 BEMIEIR Product OVervIBW s v i sl s it 6 mis s balont ids b i e soain i i in s dans i 73
3. Em TN Product StUCIUrALVIBW  ...viimressmsmssnssmsnmsssinimsinsimssrenssissamssnninatansasnsetsresssninspase 79
L MRl THEE FUNCHOROT ROEREIOI ooy s o e s i S e e S R s 73
5.EEEGANERETEEERR (1 1{EELFERR) . TR 21
Please pay attention to speed relationship when seiectlng |nput shaft
6. IR T E Expressed Method of MOGE] ... i iet et et teeiiesie s birinssbaresesssnsins 74
7. EE % Weight Table ........ S B T S BB S R AL SR T sk s
8. E 5 3%Fr (N)F* Redirector Fr(N) Table ................................................................................... 75
O AR AR R B Sorvice FACIONET.  .iiunimonssomnmionss s siniasasasstviisss s Grivsssssiansi sisnissaessimmesnassinse TG

10. BBEH] Seloction for EXamMPple: s st i iniain i i 76
1. {HERENER Transmlss:onCapacnyTable RN
12. i B R e A mAB R, ﬁ%ﬁﬁfiﬂﬁ‘]‘lﬁ R SR T

The relationship between shaft arrangements and direction of shaft rolatlon
Mounting position and dimension sheets

YONGKUN-02



@yl

Q, O é
S HL
) d YONGKUNMOTOR

b

K[

Company Profile

EEAHERBEMARATAR—REXRME, £E, HEGFHERR—BULA, TELHLE
mA: ERGESRE, NEREER, TREARER, BAXSESREESSR, TERHER, [
KAJIFEEH B ETHE, BB EREEHER.

ERKHERBROHERATAMUER, HURHEEMRREAEXEDUNEREREE, +5
FREM—EERNMHALEMERER—E, EABEEERWIRNG TR XEEIRETH
ENEEBE,

ERMKBEHEREFEE—HRE, EREMEETAMRFEXSBUOREE, WREXMAE
At EENEREZATEERMT. BUERK. BAMIS.O, BH#, SXERE. 88E
g, EDRIBEME . RS RMm. WEEH., RmmEARN, SEmaK. MUFEREEH#NS
B B L= Hl .

EEAHMEEBRMERATLISOVIBRETREHESES, XAERATRERES, &
wmmSEEEER, EHOESTAMERER, DLEIRFLAN, ER—F, BEEZE, &P
wmE, MRBARKMEES, tEREFEPHNEERTH,

KPS URRNER, SUENEAER, REXEPRYE, NERRBRAH, RBARA
HEBEHHMRERER, AE—EFmEw haaEE.

IR ERUKEY, FZRRBBEHRERS.

Taiwan Yongkun Maotor Co., Ltd is a professional R&D, production, sales of transmission
products for Integrated firm, the main core products are AC servo motor, hybrid stepping motor
and actuator, planetary reducer, four series of hardened slowdown motor transmission
products.

Taiwan Yongkun Motor Co., Ltd established companies, are to popularize provides
various can promote industrial automation rate, 10 years we have been pursuing how
humanity and science and technology integration, make the mankind can achieve rapid and
effective rate of production targets and in a relaxed and happy work

In our brainstorming with a persistent, we finally selected weapon related to the promotion
of industrial automation, is our current R&D and production of the products are widely used in
various mechanical hand, CNC machine tools and machining center, machine, electric light
source equipment, automatic feeding machine, printing machinery, food packaging
machinery, pharmaceutical machinery, glass ceramics embroidered textile machine,
engraving machine, arm and general machinery automation control field.

Taiwan Yongkun Motor Co., Ltd for process and quality control in ISO9001 system, by
combining theory and practice, the operation mode of technology and market, such as import
and export of diversified business type, in order to achieve the innovation of technology, first-
class products, perfect service, customer satisfaction, and Surety Company to sustainable
management, mutual reciprocity and mutual benefit business and customers.

We will be the steady development, organizational structure and high effectiveness, for
the majority of customer service, win with quality as the principle of benign loop to take
business and social benefits, creating a vibrant organization.

Welcome to negotiate business, the company will wholeheartedly at your service.

YONGKUN-03



AdAIN

=

S X

YONGKUNMOTOR

on:a

NMRV 7 51| 43 & 43 #F ik 33 14
NMRYV Worm Gear Speed Reducer

1. EmT 48 General Features

ATEEMRVAI MRHK BT RERSENMRVINRVR L, EREMNERE:
O X BZKESEE & 4@ 8 E

O SE i A il B 44 43

OMre@Ed, AHEFEE, BH/Dh. HE

OREMS. 5 THERE

O fEhtbs@i, HEX, HRZBHEH S,

OEfTTER. BRER. £AWAE;

OiEAYE, Z2AREk,

FiE R [E:
EEERAATERZN, HEESENTMEHHE:
O ATl fE S S 4 TEE,

O AEEESERDMHERT:

O EAMRERESHE-10~-60°

O AEREEREHZIBARENRE D,
O A ERs R e AT REEEd,

RV series of worm geared motor that our company produce include NMRV and NRV. Their performance features:
[J ZK worm profile ) high anti-wear material

[ Excellent performance, simply structure, small cubage and high efficiency;

[1 Easy to mount and maintain;

[J Wide output Reduction ratio, large torque and good capability of enduring overloads;

[J Running stably.low noise and wearing well;

[ Wlide applicability and enough safe dependability.

Critical applications:
Itis also necessary to take in consideration of and carefully assess the following applications by calling our
Technical Service:
[ Applications with especially high inertia,
[ Applications with high dynamic strain on the case of the reduction unit,
[ In places with T° under-107C or over 60,
[J Use in environments pressures other than atmospheric pressure,
[ Avoid applications where even partial immersion of the reduction unit is required.

YONGKUN-04



%L.
-

Lk

YONGKUN MOTOR
2. BU8% ¥ % Designation
NMRV VS 040 .20 -140 M1 +FA
WA By BB {EEte BNEBMRT | NMRVAEINFLR i R T
Input code Output code Reduction Input flange
name name Size ratio diameter Drive shaft diameter Qutput flange >
NMRWV VE 025 5 80 9 FA s
NRV AB 030 7.5 90 1 FB E
AS 040 10 105 14 FC =
050 15 120 19 FD
063 20 140 24 FE
075 25 160 28
080 30 200 38
105 40 250 42
110 50 300
ERZZ L 130 60 350
The default 150 80
output hole 100
(B E) (P]33E) (@4 3E) (A E) (RI i) (T 38E) (T 3EE)
Mecessary Optional Necessary Optional Optional Optional
AB Doﬁsfrﬂmﬂj 1]

uble output shaft

FLEIA . e GENTURLER
Worm reducer with hole and flange input
=~

i [6] e & A
Double inputs shaft

Fic B 1 i L
Single output shaft

AN R
Worm reducer with shaft input

FHI1: "NMRV. AS063.20-200/24+FB" R NMRV(FLEA B, FEmGHE,
fiBE63mm, fHE)tE20, @A EM KN EB200mm, EAFLE24mm, BIFBIE M.
Sample 1: "NMRV.AS063.20-200/24+FB" indicates: NMRV (input hole) form.
with single output shaft. Size 63mm. Input flange size is 200mm. input hole is 24mm. matching output flange FB.

A2 "NRV110.25" FaR: NRV(#@)ENEL, 0B 10mm, {S8hLE25, BREDFLE H L, T EM.

Sample 2: "NRV110.25"indicates: NRV(shaft)input form size 110mm. Reduction ratio is 25.
The default output hole form. Without output flange.

YONGKUN-05



) ki b

e==rd YONGKUNMOTOR

B 5%+ f# Designation

W\ i T 3 R (A A R 1 )

Worm geared motor

T\ 8 3R AR

Worm reduction unit
= FTRYiiel
Size

iAW
Output flange

HEhEL

Reduction ratio

FOANEWRERESTHRER BER)

Fitted for motor coupling

WY EMARERN

Output flange mounting position

Nk R NMRV f 8 N\ FLR ~F
Motor flange diameter Drive shaft diamete
C. 3] fa] 45 N\ 368 Ac B o 8 1 9

Double input shaft Single output shaft
Tic. [ &€ [] %6 )\ & REIK

Fouble output shaft Mounting position

X UES EHEHN

Electric motor power Electric motor polarity
EHRER EMAR

Electriv motor voltage Electric motor frequency

3. # AL Type selection

%514 Performance

SRR R R AT 10X

Starts/hour more than ten times

5B MR R E R B D F10R

Srarts/hour less than times

YONGKUN-06

<2 2-8 8-24 <2 2-8 8-24
TERE Service factor
0.8 1 1.25 1 1.25 1.5
1 1.25 1.5 1.5 1.75 2
1.25 1.5 125 1.75 2 2.25




i

>
-

YONGKUNMOTOR
4B I R 2 8 R (BL44n1=1400r/minE #)
Parameter Schedule (With 4P,n1=1400r/min motor)
R BE25 i EE30 HixEE40 FBE50
Size Size Size Size
i | na(rimin) | | Pakw) | Mo(N.m) | s, Pi(kw) | MAN.m)| sf Pifkw) | Mo(N.m) | s.f. Pi(kw) | Mo(N.m)|  sf.
5 280 - - - 0.18 5.3 3.4 0.37 11.2 3 0.75 22.8 27 >
75 | 186.7 - = = 0.18 7.8 23 0.37 16 2.4 0.75 34 2.1 o
10 140 - = - 0.18 10 1.8 0.37 21 1.9 0.75 44 1.6 g
15 93.3 0.09 7.3 16 0.18 14 1.3 0.37 3 0.8 0.75 63 1.2
20 70 0.09 9.2 1.3 0.18 18 " 0.37 39 1 0.75 81 0.9
25 56 0.09 10 1.2 0.18 21 1 0.37 47 0.8 0.55 71 1
30 46.7 0.09 12 1.1 0.18 24 0.8 0.37 53 0.8 0.55 81 1
40 35 0.09 15 0.8 0.12 19 0.9 0.25 44 0.9 0.37 68 11
50 28 0.06 12 0.9 0.12 23 0.8 0.22 47 0.8 0.37 80 09
60 23.3 0.06 14 07 0.09 19 0.9 0.18 43 0.8 0.37 89 0.8
80 17.5 - e o 0.06 14 0.9 0.12 34 1 0.25 72 0.9
100 14 - i = - - i 012 38 0.8 0.18 60 0.9
2663 UL EE75 i 2590 85105
Size Size Size Size
i nz(r/min) Pi(kw) | Mez(N.m) a1 Pi(kw) | Mz(N.m) g1 Pi(kw) | Me(N.m) s.f. Pa(kw) | Me(N.m) s.f.
5 280 1.5 46 2 = = = = = = “ = =
75 | 186.7 1.5 67.5 1.9 4 182 1 4 184.2 1.6 7.5 345 1.3
10 140 1.5 89 1.5 3 180 1.1 4 243 1.3 7.5 455 1.1
15 93.3 15 127 1.1 3 261 0.8 4 352 1 5.5 484 1.2
20 70 1.5 166 0.8 15 168 1.3 4 458 0.8 4.8 557 1
25 56 1.1 146 0.9 1.5 205 1 3 420 0.8 4 573 1
30 46.7 1.1 167 1 1.5 233 1 3 479 0.9 4 647 1
40 35 0.92 176 0.8 1.1 216 1 1.84 377 1 3 638 1
50 28 0.55 124 g | 0.55 129 1.6 1.84 452 0.8 3 767 0.8
60 23.3 0.55 140 0.9 0.55 146 1.4 1.5 424 0.8 2.2 648 0.9
80 17.5 0.37 115 1.1 0.55 180 14 0.75 258 1.1 1.5 548 0.9
100 14 0.37 129 0.9 0.55 206 0.9 0.75 302 0.9 1.1 473 1
i EE110 HaBE130 R BE150
Size Size Size EE Note
i | nrimin) | | Pukw) | MA(N.m)| s, Pikw) | M(N.m) | sf. Pikw) | M(N.m)|  s.f.
5 280 - - - - - - - - -
75 | 186.7 7.5 345 1.3 75 | 3492 | 21 " - - no=8i NI AL (r/min)
10 140 75 455 1.1 7.5 455 1.8 15 921 1.3 PR B (i
M:=dii ¥ 5E (N.m)
15 93.3 5.5 484 1.4 7.5 668 1.4 11 990 1.3 =SB Lt
20 70 5.5 638 0.9 75 880 1 11 1291 1 st=TIERH
25 56 4.8 688 0.9 75 1074 0.9 7.5 1074 1.1 T,
30 46.7 4 647 1.1 5.5 900 1.2 7.5 1274 0.9 ne=output speed (r/min)
40 35 3 638 1 55 1171 0.9 5.5 1171 1.3 M:=input speed (N.m)
50 28 3 767 0.8 48 | 1244 | 1.1 55 | 1426 1 ;’ii“:::i’; rr‘:g':m
60 23.3 2.2 648 0.9 4 1179 0.8 4 1195 1.1
80 17.5 1.5 548 0.9 2.2 816 1 4 1484 0.8
100 14 1.1 473 1 22 966 1 2.2 960 1

YONGKUN-07



S X

YONGKUNMOTOR

4. R~} Dimensions

4.1 i\ R~F# % Input size general schedules

AdAIN

NMRY Mounting Spec.
PAMIEC T N [ M 1 P | bm [ im | 5 ] 76 ] 10 | 15 | 20 | 25 | 30 | 40 | 50 | 60 | 80 | 100
25 56814 50 | 65 | 80 | 3 ]104] - | - ] - | 9 ] 9 1 9 | 9 | 9 | 9198 | - |-
63B5 95 [ 115 [ 140 | 4 |12.8 T
= L e e omer e o< LI IRV TR AR UI RETIN AR VIR ARV R TR AT
5685 80 | 100 [ 120 | 3 |10.4 -
GeE14 | 60 [ 65 (6o | s [woe] 2 | * | F | * | 9] ]|9 ]| ®]9]"
71B5 110 | 130 | 160 | 5 [16.3 i i
25 10 | 130 1601 5 152 14 | 14 | 14 | 14 [ 14 | 14 | 14 | 14
40 63B5 95 | 115 [ 140 | 4 [12.8
5385 96 (LS LU0 4 2Rt | | | || | | ] A | 11|
56B5 80 [100]120] 3 1104 =1 - | - -1 -1 -1 -1 =195 1999
B80B5 130 | 165 | 200 | 6 |21.8 S PR e S R
80B14 80 | 100|120 6 218 9| 19| 19| 19| 19] 19 18
50 71B5 110 | 130 | 160 | 5 [16.3 -
JIEE 10 1 180 {160 | 5 1I82 4 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14
63B5 8 i1 140 & |128] = | = | = | = | = =| = | %% | A || |l "
50B5 130 | 165 | 200 | 8 |27.3 T T
90B14 95 | 115 (140 & 273 24 | 24| &4 | 24 | 24| 24 | 24
BOB5 130 | 165 | 200 | 6 |21.8 —
63 Jofs. 0100 290 S (BE 1o [ 19| 19| 19| 19| 19| 19| 19| 19 | 19
71B5 10130 (160 5 (1631 — | - | - 1 - | - | - 1 _
71B14 70 | 85 | 105 | 5 |16.3 4 | 14|14 ] 14 | 14
100/11285 | 180 | 215 | 250 | 8 [31.3 | _ =0 e | i el e e e
100/112B14 | 110 | 130 | 160 | 8 | 31.3 28 | 28 | 28
90B5 130 | 165 | 200 | 8 |27.3 | _ i s
75 G0B14 95 [ 115 [ 140 | 8 [27.3 24 1 24 | 24 | 24 | 24 | 24 | 24
B80B5 130 | 165|200 6 |28 _ | _ | — | _
80B14 80 | 100 [ 120 | & [21.8 ] 1e AR e e 1R ] e ] 18
71B5 619011600 5 |83 = | = | =1 =] = = == @@l * @&
100/112B5 | 180 | 215 [ 250 | 8 313 _ — 1 _ 1 _ 1 _
100/112B14 | 110 | 130 | 160 | 8 |31.3 28 | 28 | 28 | 28 | 268 | 28
90B5 130 | 165 [ 200 | 8 273 _ — 1 =
90 S0 T L 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
80B5 1301165 (2001 6 12181 — | - | - 1 - | - | - 1| _
BOB14 80 | 100 | 120 | 6 [21.8 1B | 18 | 18 ] 18 [ 18
132B5 | 230 [ 265 | 300 | 10 [413] - (a8 |38 [ [ - | - -1 -1 -1 - [ -
105 100/11285 | 180 | 215 | 250 | 8 313 — | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | — | -
90B5 130 ] 165 1 200 | 8 12731 = | - | - | - | - | 24 | 24 | 24 | 24 | 24 | 24 | 24
B80B5 Mie sl s 188l =1l =l =1l =0T =1 =T T =T=T1T=T%T5%%
132B5 | 230 ] 265 [ 300 | 10 |413] - |38 | 3% | [38 1 - 1 - - 1 -1 - [ - 1 -
110 100/11285 | 180 | 215 [ 250 | 8 313 ] — | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | — | -
90B5 130 | 165 | 200 | 8 [27.31 - | - | - | - | - | 24 | 24 | 2a | 24 | 24 | 24 | 2a
80B5 130 | 165 ] 200 ] 6 [2181 - | - 1 = 1 = 1 -1 - 1 - [ - [ -1 - ] 18 [ 19
o 132B5 | 230 | 265 | 300 | 10 |41.3 | - | 36 | 36 | a6 | 3% | 88 |88 |88 | - | - | - | -
100/112B5 | 180 | 215 | 250 | 8 |31.3] - | - | - | - | - | 28 | 28 | 28 | 28 | 28 | 28 | 28
90B5 190 (16612001 B 12731 = | =1 =1 =1l =1 =1 1T -1 -=-71-1T%2132a
160B5 | 250 | 300 | 350 | 12 [45.3 ] — | 42 | 42 | 42 | 42 | 42 | - | - | - | - | - | -
150 13285 | 230 | 265 | 300 | 10 14131 = | - | - | - | 38 | 38 | 38 | 36 | 38 | 38 | - | -
100/11285 | 180 | 215 [ 250 ] 8 13181 = | - 1 - 1 -1 - 1 - 1 -1 - | 28| 2828 28

YONGKUN-08




7K b

YONGKUNMOTOR

4.2 5B R~ K #i H R <F Boundary dimension and output size

NMRV 025

35 45

SR
AN
Lt

] { © X ; / &
i - 5 g 8 { wl /_“\‘1 '
§ ele Fry 2| a9 o i
(]
y = MATL N . ol
L a Input bore 9 ﬁ || -
®55 2k &
i 2 e g | J
»6.5 © 22
34
42
i
Output shaft 101
255 25.5 -
O 23 P 23 4 e 7
AB A
o TR g % | |
= = ®11H8 %m ' ﬁi. :
< i ,‘E
a1
50 25.5 :.g} i 7L
__4 23 = Output bore
m@ Wi e
o
s ¥ g
EitHiZ™ Output flange
| FA 45 |

6
70x70 </ 2.5

R37.5

(U

E|E:0.7kg
Weight: 0.7kg

YONGKUN-09



AdAIN

=

S X

YONGKUNMOTOR

R =f Dimensions

63
40 s 55 a o
" 4 gt | eyl
I{I1 [TIT a7 |
=N | i bm ]
H 5 ‘_E_ - _—1/— \L—
4-M6x 11 /FH\\ 177 om N A & @xf{i@
o b P~ w0
/Ké%\;{ = %
) won, [ [HE
i L 1 nput bore §
f 0
' 085 e :i
75 56
63
21 21
] womn
NMRV.VS o S S
©
20 45 =
3 e By FL
T"'— H §‘ Output bore
S A
7N
(=] r K(Iﬁ ]
N2
AN g got’” j
o
BAER N Dm(H7)
paM_IEC (tHBy| M [ P | Am ] |8
5 17.5/10|15|20 |25 |30 | 40|50 |60 |80 [100| Depth &
63B5 ©95 |®115|®140| 4 |12.8| @9
111111 1111111111111 = - 23
63B14 ®60 | @75 | ©90 4 12.8 | ®6
56B5 ®80 | 100 d120 3 10.4 o7
9191919199191 9]19]| 9 - 20
56B14 ®©50 | ®65 | ®80 3 10.4 ®6
EH#: 1.3kg
Weight: 1.3kg

YONGKUN-10




7K b

YONGKUNMOTOR

R ~F Dimensions

NRV 030

NRV.VS
51 20 20 45 51 20 E
=
I 1T 3 S
- Wig
YC_‘-‘.
© ©° ©
: g :
S —
# & Output shaft
128 102
M6 x 16 325 32.5_| M6 x 16 63 325 |Mex 16
30 30 5 30
w
£ L A g ST 2
g g °
;3% M Output flange
54.5
70x 70 6

ol
0

%
|
=20

D50H8

(U]
Al

YONGKUN-11



AdAIN

S X

YONGKUNMOTOR

=

R =f Dimensions

NMRV

78
50 70 S 73
101 7 [l |
- 70 H /
o | [ 1 bm
5 nm 1T / il [;[Q
4-MEx 8 |[] B I 2 . | ‘Lh/_ \Uﬂ} J
Dm / ,E- . act B 2 \ é’\k_ﬂﬁ
= 2
B NFL o /8
Input bore 9 2 n - 9

43
60
71

6.5

23

B i FL e

53
4 Ey—m——[—ry—l QOutput bore

©11j6
N
%

i(fa
S
]
b

N Dm(H7)

FEEEI?C (H8) M P bm tm S

5 (7.5/10|15|20|25| 30| 40|50 |60 | 80 |100| Depth &
71B5 ©110| ©130| ®160| 5 | 16.3 | ®11

14|14 14|14 |14 | 14| 14|14]| - | - | - | - 30
71B14 ©70 | 85 |®105| 5 |16.3| ©7
63B5 ©95 |®115| ®140| 4 | 128 | ©9

11111 1111111111 11 11 23
63B14 ©60 | @75 | ®90| 4 | 128 | ©6
56B5 ©80 (o100 ®120| 3 (104 | ©7 |-|-|-|-|-|-|-|-]9]9]|9]>9 23
H#: 2.4kg
Weight: 2.4kg

YONGKUN-12



) 7K B i b

d YONGKUNMOTOR

R ~F Dimensions

NRV NRV.VS 040

60 23 23 53 60 23
pi D=l i i
Ll ey :
Nl _ _

] -
& tH &) Output shaft
164 128
43 43 78 43
MEx 16 [, 1o | Mex16 " o |Mexe
|~ S| & T;m%@mzaﬁ
g R g § l‘“‘ﬁ%% ' g
- o]
& 8 &

EjH5%E Output flange

| FA FB
67 97
| T 7

R55 @ Q—O] 4 W% 4
3 N SN g ALD
§ 2 2

@75 | i s |

o P i B i

FC FD

o6 ] o |
140 56 120 56 12

@ 95H8

@ 80HE

X 2
N \ N
| /=115 3 s | . @100
®95 9

- - L

YONGKUN-13



AdAIN

=

S X

YONGKUNMOTOR

R =f Dimensions

NMRV 050

80 80 S
121 24
80 H lll M
] bm Fainl] M
=~ ~ Tt TTIT P Rt f" 2 IBW__“‘““E'
4-MBx10 N z/s|a fay [ {ﬁ\ -\\ﬁ’} |
h% Dm _E g 3 2 9\,‘1____,//9
) W 3 g
Sk AR ” :
. Input bore e ey b=
) - 49
70
85

8 30

(30 30
NMRV.VS e et e
A TP ooshs iz

30 64
454_ ME=16 — — i FL
% I | Output bore
mf o, | “\N
i =
3 . d
20/
NN . L
Dm(H7)
FEEEI?C (I-TlB} M P bm tm S
5 |(7.5/10[15|20| 25|30 40|50 |60 |80 [100| Depth &
80B5 ©130| @165| ©@200 6 21.8 | ©11
19|19]|19|19|19|19]|19| - | -| - | - | - 40
80B14 ©80 | ®100| D120 6 21.8 o7
71B5 ©110| ®130| ®160| 5 | 16.3| ®11
1414|1414 |14 |14 |14 14| 14| 14|14 - 30
71B14 ©70 | ©85 | ©105 5 16.3 7
63B5 ©96 | P115| D140 4 12.8 o9 = |l | o= | o= ] = = 1111 11] 11| 11 23
E#: 3.6kg
Weight: 3.6kg

YONGKUN-14



7K b

YONGKUNMOTOR

R =F Dimensions

050

NRV NRV.VS
74 30 30 64 74 30
M6 x 16 5 M6 x 16 - M6 x 16
TR =ii7 =
2 © Y
i\ iz~
&y U
—U_Ij —l_l_l__
i HEh Output shaft 199 158
53.5 53.5 92 53.5
M10 x 24 |50 50 |Mi0x24 50 | M1ox24
ﬁ ]
£ M o | gy ©
o ¥} T3}
T :
¥ H%H Output flange
| FA FB
90 120
110 %110 /—xg 5 ;E\\ o &
T, ) o 7T 0 T0
%% \3, SLA [ S LA
(71 2 T
) : :
11 e = | = i
2, o |D_ E’ i i j =
®160 66 89 72
ia 14.5
5
= L 5 N
ﬁ“\o@) o\
S ¥ N . sLL
©9.5 S 5
%] - !
) - e )

I_r|1 I
|

YONGKUN-15




AdHININ

=

@) kit
3 4 YONGKUNMOTOR

R =f Dimensions

112
5
7295 108
146 u
@ 100 H O//—\
|
- - ‘ bm / E_V__“'F{ \
] . @ 3
T+ Fan ¥ _G
8-M8 x 14 =0 EE%E[ | Ch\‘/' ]
i ‘ R g8 o o)
R - WARL o
é{\'\ } = Input bore - §
/ . o8 0 | HS
L [ am
& = £}
@, —1
o, & AD : £ 67
) B85
103
112
8 35 35
NMRV.VS ) ) -
40 75 &
6 MBx16 o T TT 225H8 Fa
& Hef .
& & Output bore
[+7)
e
\\‘:// B
T T [ =TT
Lt G| M [ P [om | m | s
5 |7.5/10 |15 |20 |25 |30 | 40 | 50 | 60| 80 |100| Depth &
90B5 ©130| @165 |®200 8 27.3 | @11
24|24 (24|24 |24 24|24 - | - | = | = | - 50
90B14 ©95 |®115|® 140 8 27.3 | ®9
80B5 ©130| 165|200 6 21.8 | 11
19119(19(19|19(19|19|19| 19| 19| - | - 40
aoB14 ¢80 | @100 D120 6 21.8 | ®7
71B5 ©110| @130 |® 160 5 16.3 | @11
-1=1=--1-1-|-114|14|14]14|14]| 30
71B14 ©70 |®85 |®105 5 16.3 | ®7
H#: 6.3kg
Weight: 6.3kg

YONGKUN-16



7K b

YONGKUNMOTOR

R =F Dimensions

NRV NRV.VS 063

90 40 40 75 90 40
M& x 16 MEx16 ME x 16

i | e ol s

uy
-
(2}

®19j6

A
\Y)
©19j6
©19j6

51 - 11 T
Output shaft Output flange
53.5 53.5 | |
M0 x 24| 50 50 | M0 x 24
l [ 5
= N ‘_/rl T
= R =
) [Ts} -
(5] o
1=} =3
173
112 53.5 g
S8 50 | MO x 24 2
zzzz@ [ e
Y [ |
g © L]
=
u
od
=3

fé
T T
NEiA

e —/’é
e ; alBF
\j - & || - 5
o~ o | B o | p
FC FD
a8 107
80 10 10
5 5
= =
— = o —1 - =]
o | Pl o |

YONGKUN-17



AdHININ

=

@) kit
3 4 YONGKUNMOTOR

R=f Dimensions

NMRV 075

120

114
- aAn=
N S )
I 7
ol Te || ge N
o ©
HIANTL B g
Input bore P9
2138 |
w 72
- a0
112
120
8 40 40
NMRV.VS : | 7
50 90 M ©28h8 ,j ‘%J m] g
8 M8x20 T =
P~ - L
o Output bore
©
&
=)
N Dm(H7)
BARE | Ny e bm || s
5 |7.5/10 |15 | 20 | 25| 30 | 40 | 50 | 60 | 80 [100| Depth &
100/112B5 | ®180| ®215| ©®250 8 31.3 | @15
- |28|28|28| -|-|-|-|-|-]-|-]| 60
100/112B14 |®110| ®130| ®160| 8 31.3| @9
90B5 ®130| ®165| ©200| 8 27.3 | ©11
~|24]|24]|24]|24]|24]|24]|24]| -] -| - | - 50
aoB14 ©95 |®115| @140 8 27.3 ©9
80B5 ©130| @165 | P200| 6 21.8 | @11
-|=-|-|-119(19(19|19]|19|19| 19| 19 40
8oB14 ©80 @100 @120 6 21.8 | @7
71B5 ®110| ®130| ®160| 5 B3| 011 |- |—-|—-|-|-|-|-]-]14]14]|14 |14 30
H#: Okg
Weight: 9kg

YONGKUN-18



7K b

YONGKUNMOTOR

R~ Dimensions

NRV Do

NRV.VS
105 50 50 90 105 50
MBx20 g MBx20 —— M8 x 20

=
o

_—
D)
AN
® 246
®24i6
&k@ )
71
©24j6

%
&
//;

& H 8 Output shaft

247 192
63.5 63.5 120 63.5
M10 x 24 |60 60 | pM10x 24 8 80 | M10x24
I ZZZ%” | ]% W?ﬁ%ﬂm g
b
w
& 2 JW@@Z ©
o ﬁ a
EitHiZ® Output flange
111 90
13 13
6 ©160 6

170 %170

R100

igl )
&=
N

rﬁm
ol
®130H8
ol
%
©110H8

14

0
O

/
®
5,
8]

Vi

YONGKUN-19



AdHININ

KAt

YONGKUNMOTOR

=

R=f Dimensions

140
134
bm %?/T\\OG}
l s T S
"‘E 8 | o S
t L = -~ i
1 g o [ o]
Dm_ |-+ & !. 5
i -
i N FL o | R : =
o = i —f—
Input bore - i
9 i
130
140
45 45
o3
4o L
‘ L]
=,
a5 WiHTL
© Output bore
-
o
=)
N Dm(H7)
e || M| P om|m]| s
5 |7.5/10 |15 |20 (25| 30|40 |50 | 60| 80|100| Depth &
100/112B5 |®180| ®215| ®250| 8 31.3 | ©15
28|28|28|28B|28|28|128| - |~ |~ |~ | — 60
100/112B14 |©110| ®130| ©®160| 8 31.3 | @9
90B5 ©130| @165 @200| 8 27.3 | 11
24|24 |24 | 24|24 |24 |24|24 |24 |24 - | - 50
apB14 ©95 |®115|®140| 8 273 | @9
30B5 ©130| ®165| @200| 6 21.8 | o111
“1-1-1-1-|-1|-[|19]|19]|18]| 19|19 40
80B14 ®80 |®100| ®120| 6 21.8 | @7
& 13kg
Weight: 13kg

YONGKUN-20



i

YONGKUNMOTOR

>
-

R~ Dimensions

.
| I

S~
??rJ _:i jj

NMRV

27

125 50_ M8 x20 M8x20 50 108 125 50 M8 x20
1l

®24i6
@
2N
h)
&
i,
4
I

€}

&y 8 Output shaft 408 | -
M2k 25 | 845 BAB | piiwina 140 84.5 | p12x28
— 1| 80 I 80
2272’77'
e ez © ©
3 n 8
& i%M Output flange
| FA I . |
111 122
200 x 200 13 P
6 = o) 1.6
7 Yo
oA
z :
2 1{,“3 A i 8
< | e
i
i
| FC |
110 151
17 200 x 200 13
il B 6 P e "
’3“_. 3] =) """_D
7 el bfﬁp_ ;
lc\.\:,s o
|
I
= | | n )
& ol] | ||o

YONGKUN-21



AdHININ

=

g o é|§
3 d YONGKUNMOTOR

R=f Dimensions

127.5 160
| s 155
- 2525 ———
¥ 170 | b 148
III1 IIII ‘/f
H ¢ /T ¢
8-M10x 18 - Z(S|a %E w | ok
1 _— Dm 'fé‘ gle T\_l\fiﬁ
7] - -
= & 5 /oo
) - z
Z HIATL . :
Input bore ~ B
= &
14
115
144
NMRV.VS "
60 135 9}
M10 x 24
8 x ‘ i — i DAzl E
a@ —H !
© WL
= T Output bore
e LR
N\
e 1 /H |
I!IJ Il;_l
BHER N Dm(H7)
PAM-IEC |(Hg)| M | P | bm | tm | S
5 |7.5/10|15|20 |25 |30 |40 |50 |60 |80 [100| Depth &
132B5 ©230| ©265| ©300| 10 | 41.3 | ®15| — |38*|38*|38*|38*| - |~ |~ |~ |~ |~ | ~ 80
100/112B5 |©180| @215/ 0250 8 31.3| ®15| — |28|28| 28|28 |28| 28|28 |28 (28| — | — 60
90B5 ®130| P 165/ P200| 8 273|011 | |~ | |- |~ |24|24|24 |24 |24 |24 |24 50
80B5 ®130| @165/ ®200| 8 218 | oAt | = |=]|=|=|=| = =| =]~ |=[|19]19 40
EE: 40kg R R MDAIFUSHEM .
Weight: 40kg Mote: (*)Low profile key supplied by DAIFUSI.

YONGKUN-22



7K b

YONGKUNMOTOR

R ~F Dimensions

NRV 110

NRV.VS

142 60 60 135 142 60
M10 x 24 M10 x 24 M10 x 24

Tt 11 l— ’gz —I _.Ill

NMRV

N 8
I ™

1111

NI T

®28 j6 L“

©28 6

@28 |6
N
N\

[T
LIT

& H & Output shaft
324 24

M16 x 36 M16 x 36
-9 | M16x236
e

©42 hé

©42 he
42 h6

B 5%E Output flange

[ FA

260 x 260 \ 6

©170H8

YONGKUN-23



AdHININ

=

@) kit
3 4 YONGKUNMOTOR

R=f Dimensions

147.5 180 170
s 162
w =
v bm
i oo
8-M12x21 T z|Z|a £l 2ol g t“/_/
A Dm ® 3| 2
0 2
© =
5 : BNTL =
Input bore N ,8 =]
‘q-_ e
/|
155
170
14 90 Lo
—ppo 7
Tl s
NMRV.VS
@ 45H8
M10x24 80 155 [ E Al
8--l—
s ) H 7L
] Output bore
f L
]
e L/
Dm(H7)
N
5 17.5/10| 15|20 |25 |30 |40 |50 |60 |80 [100| Depth &
132B5 ®230| @265 ®300| 10 41.3 | ®15 | — |38*|38*|38*|38*|38*|38*|38*| - | - | - | - 80
100/112B5 |®180| ®215| ®250 8 31.3|®15| - |- |- | - | - |28|28|28|28 |28 |28 | 28 60
90B5 ®130| ®165| 200 8 T8 || = == = | | =] =) =] =] =] 24|24 50
E®: 50kg R R MDAIFUSHEM .
Weight: 50kg Mote: (*)Low profile key supplied by DAIFUSI.

YONGKUN-24



7K b

YONGKUNMOTOR

R =F Dimensions

NRVY 130

NRV.VS

162 80
M10 x 24 5 M10 x 24 80 186 162 80 M10 x 24

S

NMRV

@306
306
@306

e
=
A

= )

i H&h Output shaft

340 265
M16x36 | 85 85 | M16x 36 170 85 | M16x36

80 14 ﬂq— 80
S e

@EF-Q

D45 h
©45 hé
©45 hé

#H%H Output flange
| FA
290 x 280

R160 /\ 3 1 E

K
45 o
- O
(T
N
]
@180 H8

&
|
|
|

YONGKUN-25



AdHININ

=

@) kit
3 4 YONGKUNMOTOR

R=f Dimensions

NMRV 150

170 210 g 200
340 ! 192
® 240 1 | Zal
IIT nl—:;l'l_L Ty ‘ bm ‘/
= & R
8-M12x 22 22| 5 g—?}g N I ¥ (:) A
™ m
=sa) ‘ Rl 8|3
WARL S ®
Input bore 3
L5 2|8 < °
= 4
=
25 145
185
200
725 725
14 Rl
NMRV.VS : | ZZZA%s
- |
80 175 D50 HE /S~ ﬁ’
- M12 x 28 o
3 gm ] I W7,
© Output bore
g
(=} ==

HRAEH N Dm(H7)
PAM-IEC | (48)| M | P | bm | tm | S
5 |7.5{10|15|20 [25 |30 |40 (50 |60 | 80 [100| Depth &
160B5 ©250| ®300| ©®350| 12 | 45.3 | ©15 | — [427|42% (427|427 (42" |42"|42*| - | = | = | ~ 110
132B5 ®230| ©265|®300| 10 |[413|®15| - |~ | - |~ |- |38|38|38(38|38| — | — 80
100/112B5 |®180|®215|/®250| 8 13|15 - |~ |- |-|-|-|-|—-|28|28|28|28 60
ER: 84kg R R MDAIFUSHEM .
Weight: 84kg Mote: (*)Low profile key supplied by DAIFUSI.

YONGKUN-26



7K b

YONGKUNMOTOR

R ~F Dimensions

NRV 150

NRV.VS
185 80 mi2x28 0 Mi2x2s & o 1E LA - T
e — It
CTTT L =TT
e o, ! o /-57’ o
',58 [f\ 9
e e @5\\\ &
> &
i tH&h Output shaft
374 297
M16 x 36 |—2L 87 | M16x36 200 B | M16x36
82 . 82 14 o 82
ZZ 2 g

@50 hé
@50 hE
@50 hB

B 5%EE Output flange

| FA

155

15
290 x 290 7

7N
45 gl
.
|
®180 H8

YONGKUN-27



AdHININ

lé B,

KA

YONGKUNMOTOR

=

4.3 BhiE=E Cover

7

.|O
~

]

o
7T

4.4 ¥4 8 Torque arm

N2

N2
030 42
040 50
050 58
063 69
075 71
090 86
105 94
110 94
130 102
150 113

K==

O
~
J

vd
NP
§

= |
g glllle
i
\E ‘
KG G
NMRV KA1 G KG KH R
025 70 14 17.5 8 15
030 85 14 24 8 15
040 100 14 31.5 10 18
050 110 14 38.5 10 18
063 150 14 49 10 18
075 200 25 47.5 20 30
090 200 25 67.5 20 30
105 250 30 62 25 35
110 250 30 62 25 35
130 250 30 69 25 35
150 250 30 84 25 35

YONGKUN-28




Sl 7

d YONGKUNMOTOR

5. NMRVEEE# =2 25X NMRV Mounting positions with motor

B3 CF B8 ,_V5
N ?H%%#T o @@ ]’4%#7 J@ j
g E}%%jﬂ

YONGKUN-29



AdIAIN

S X

YONGKUNMOTOR

s

NRV/NMRV(n,=1400r/min)
Model M, i P.(KW) n,(r/min) Model M, i PL(KW) n.(r/min)
73 300 0.08 4.7 1100 | 300 0.9 4.7
65 400 0.06 3.5 1030 | 400 0.7 3.5
61 500 0.04 2.8 1000 | 500 0.6 2.8
73 600 0.04 2.3 1030 | 600 0.5 2.3
73 750 0.04 1.9 1100 | 750 0.4 1.9
73 900 0.03 1.6 1100 | 900 0.4 1.6
NRV030/040 | 65 1200 0.02 1.2 NRV050/105 | 1030 | 1200 0.3 1.2
73 | 1500 0.02 0.9 1100 | 1500 0.3 0.93
73 | 1800 0.02 0.8 1100 | 1800 0.2 0.78
65 | 2400 0.01 0.58 1030 | 2400 0.2 0.58
65 | 3200 0.01 0.4 1000 | 3000 0.1 0.47
33 | 4000 0.01 0.4 780 | 4000 0.1 0.35
29 | 5000 0.01 0.28 710 | 5000 0.1 0.28
145 | 300 0.15 4.7 1265 | 300 1.1 4.7
124 | 400 0.1 3.5 1185 | 400 0.8 3.5
120 | 500 0.09 2.8 1100 | 500 0.6 2.8
145 | 600 0.08 2.3 1185 | 600 0.6 2.3
145 | 750 0.07 1.9 1265 | 750 0.5 1.9
145 | 900 0.06 1.6 1265 | 900 0.4 1.8
NRV030/050 | 124 1200 0.04 1.2 NRV050/110| 1185 | 1200 0.3 1.2
145 | 1500 0.04 0.93 1265 | 1500 0.3 0.93
145 | 1800 0.04 0.78 1265 | 1800 0.3 0.78
124 | 2400 0.03 0.6 1185 | 2400 0.2 0.58
120 | 3000 0.02 0.5 1100 | 3000 0.1 0.47
82 | 4000 0.02 0.35 819 | 4000 0.1 0.35
82 | 4800 0.02 0.29 746 | 5000 0.1 0.28

YONGKUN-30




8]

AR H i b

YONGKUNMOTOR

NRV/NMRV(n1=1400r/min)

Model M, i P, (KW) n,(r/min) Model M, i P.(KW) n,(r/min)
230 300 0.24 4.7 1760 300 1.5 4.7
230 400 0.19 3.5 1650 400 1.1 35
216 500 0.15 2.8 1550 500 0.9 2.8
230 600 0.13 2.3 1650 600 0.8 2.3 E
216 750 0.11 1.9 1760 | 750 0.7 1.9 =
198 900 0.09 1.6 1760 900 0.6 1.6 2

NRV030/063 | 230 1200 0.08 1.2 NRV063/130| 1650 | 1200 0.4 1.2
216 1500 0.06 0.93 1760 | 1500 0.4 0.93
198 1800 0.05 0.78 1760 | 1800 0.3 0.78
230 2400 0.05 0.58 1650 | 2400 0.3 0.58
216 3000 0.04 0.47 1550 | 3000 0.2 0.47
172 4000 0.03 0.35 1220 | 4000 0.1 0.35
150 5000 0.02 0.28 1100 | 5000 0.1 0.28
390 300 0.36 4.7 2340 150 3.4 9.3
360 400 0.27 35 2340 200 2.7 7
320 500 0.21 2.8 2050 250 1.9 5.6
390 600 0.19 2.3 2340 | 300 1.9 4.7
390 750 0.16 1.9 2670 400 1.8 3.5
390 900 0.14 1.6 2330 | 500 1.4 2.8

NRV040/075 | 390 | 1200 0.11 ke 2670 | 600 1.3 23
390 1500 0.1 0.93 NRV063/150 | 2330 750 1.0 1.9
390 1800 0.09 0.78 2100 900 0.7 1.6
360 2400 0.07 0.58 2670 (| 1200 0.7 1.2
320 3000 0.05 0.47 2100 | 1800 0.4 0.8
250 4000 0.04 0.35 2670 | 2400 0.5 0.6
230 5000 0.03 0.28 2330 | 3000 0.3 0.5

1880 | 4000 0.2 0.4
510 300 0.6 14 16450| 5000 0.2 0.3
610 400 0.4 14
560 500 0.3 14
610 600 0.3 14
560 750 0.2 14
505 900 0.2 25

NRV040/090 | 610 | 1200 0.2 25
560 1500 0.1 30
505 1800 0.1 30
610 2400 0.1 30
5690 | 3000 0.1 30
460 | 4000 0.1
410 5000 0.1

YONGKUN-31



AdHININ

A T

YONGKUNMOTOR

7. B4R # % R ~F Combine worm geared motor size

i

NMRV+NMRV

T
s B

| [ ]
— ) —
g

;ﬁ

()]

1

ﬁ
ﬁ

D

]
Eaf WO u )
bo e \\_}/r @)
o == ol
w - A\ £ : I h__u_:
J = T _J
©
> -
* = L 'e) O
o F = B
K NRV+NMRV
L

C1 Z Z N2
G 7] A
=i N
I a g
= et
@ L
iy | &) o_l =

YONGKUN-32




==
Lk
YONGKUN MOTOR
NMRV R~ Dimensions
+
NMRV | A | B|ciDH8)|de)| E | F|la |Gt |Gz | H |HI| I [ 11 |12]L M |NH3 NI
025-030 | 54 | - 70 14 - a7 32 | 45 63 - 40 35 - 25| 30| 56| 65| 55| 58 E
=
025-040 |70 | - | 70| 18 | - [1215| 43| 45| 78 | - | 50 | 35| - |25 |40 | 71| 75|60 | 73 >

030-040 | 70 | 20 | BO 18 9 [(121.5| 43 | 55 | 78 51 50 | 40|10 | 30 |40 (71 | 75|60 | 73

030-050 | 80 | 20 | BO | 25 9 144 | 49 | 55 | 92 51 60 | 40 | 20 | 30 | 50 | 85 | 85 | 70 | 87

030-063 |100| 20 | 80 | 25 9 174 | 67 | 55 | 112 | 51 72 | 40| 33|30 | 63 |103| 95| 80 | 106

040-075 |120| 23 (100| 28 1 205 | 72 | 70 [ 130 | 60O 86 | 50 | 35| 40 | 75 |112]|115]| 95 | 114

040-090 |140| 23 (100| 35 11 238 | 74 | 70 | 140 | 60 | 103 | 50 | 50 | 40 | 90 |130|130|110| 134

050-105 |170| 30 [120| 42 | 14 | 295 | - | 80 | 155 | 74 |127.5/ 60 | 60 | 50 | 110|144 |165| 130|148
050-110 |170| 30 [120| 42 | 14 | 295 | - | 80 | 155 | 74 |127.5/ 60 | 60 | 50 | 110|144 |165| 130|148
063-130 |200| 40 |144| 45 19 335 - 95 | 170 | 90 [147.5| 72 | 67 | 63 |[130|155|215| 180|162
063-150 |240| 40 |144| 50 19 400 - 95 | 200 90 | 170 | 72 | 67 | 63 |150|185|215| 180|192
NMRV =t Dimensions

+

NMRBRV \Nn2|O | P | @ | R | R | S|V | 2 | 21| K | KE a|b |t |bo|te]|F

025-030 (22.5| 6.5 | 75 44 57 48 55| 27 | 100 | 40 44 | M6x11 | 0, | 5 |163| - | = | -

025-040 (22.5| 6.5 | 87 55 71.5 48 65| 35 | 115 50 60 M6x8 [45,| 6 (208 - | - | -

030-040| 29 | 6.5 | 87 55 71.5 57 | 6.5 | 35 | 122 50 60 Méx8 |45, 6 (20.8) 3 |10.2| -

030-050 | 29 | 85| 100| 64 84 57 7 40 | 132 60 70 | M8x10 |45,| 8 |28.3| 3 (10.2| -

030-063 | 29 | 8.5|110| 80 102 57 8 50 [ 145 | 72 85 | MB8x14 |45,| 8 |28.3] 3 |10.2| —

040-075 |36.5|11.5| 140 | 93 119 | 715 | 10 | 60 [167.5| 86 90 | MBx14 |45,| 8 |31.3| 4 |12.5 -

040-090 [36.5| 13 | 160 | 102 | 135 | 71.5 | 11 70 |184.5| 103 | 100 |M10x18|45,| 10 |38.3| 4 |12.5 -

050-105 |43.5( 14 |200| 125 |167.5| 84 |14.5| 85 | 226 |127.5( 115 |M10x18|45,| 12 |45.3| 5 | 16 | M6

050-110 [43.5| 14 | 200 | 125 |167.5| B4 |14.5| 85 | 226 [127.5| 115 [M10x18|45,| 12 [45.3| 5 | 16 | M6

063-130 | 53 | 16 | 250 | 140 |187.5| 102 |15.5| 100 | 245 {147.5| 120 |[M12x21|45,| 14 |48.8)| 6 |21.5| M6

063-150 | 53 | 18 | 250 | 180 | 230 | 102 | 18 | 120 | 275 | 170 | 145 |[M12x21|45,| 14 [53.8| 6 |21.5| M6

YONGKUN-33



AdHININ

A T

4 YONGKUNMOTOR

8. MR AT 2 R Combine mounting positions with motor

ASA1

YONGKUN-34




7K b

YONGKUNMOTOR

0. EAFMAE

THRMERATELRER, EERAZH, BHASMTHRA, DERERER.

RS EEER:
1, PmEFfERERAARTaERLNG N, ZHHAXTHEIHY. By . SEmhHSHma.
2. ¥rhBE4yE: 25, 30, 40, 50, 63. 75. 90, 105, 110, 130, 150% %l

BB FE5: 5, 7.5, 10, 15, 20, 25, 30, 40, 50, 60, 80, 100,

-_.\ f%

1. SRFFESE /N F1500 r/min,

2, REWBRBEMIRD, REFRE.

3. WA, BEEEGANIE, MERMGHMAHAEREEER, HEERESMHMBOEEAR, FRIEB—H.

4, BT pESEmt @S RE, ERESEEARNOFEHEEH TR ESHEE BB,

5. SEEEESEHINEBENTHRG (BK. K. HHS. #% ) IR ARQAREEAAEE, UHRTHEREST. HE2EE
A L E A

6. TREAFHEE, HAREBEEF. EFFHRE.

7. EEEESH NG, BReBxHFREEET, FREEDTEE. BRE. TEH. ERME.

—. H®

1. HESEMEHEFE-10T-60C, EESREETOCHE, LHHNMEERLFAMRI0T LR BIESE MR,

. RESRIGEEE, TASHRNEREESTESONE, RETTESENTREES,

HERT—EBEM (4-68 ) MRS, MRHMHNARMeENEY, ERRBERNY, EEEehFRAHMBEAR TSk
oo I AL B OB,

4, MRAHBIETSE, BEUREWECEEERMEREN,

5. I8 REH0000/E TEEEERMER. EAATHEMA, B ESETIEMITHARENH BT IHESE.

6. BT RAMEMNAES, BEAMBREN, RME,

=, e

1. FEEMHERFRENR, LIREE

2, EffELREERE, EHE. DHSETERY. EEETCLERE, BalSREE, HBRSE, FTH®ER.
3. EEEBRREEREEAEHNETEREARESET,

4, FEHRHL RAF 038 LR 4R L R B8R E W R

i = s
NMRV110~150 NMRV025~105
i & Rl
TE (~5)~(+40) (-15)~(+25) (~25)~(+50)
ISOVG ISO VG460 ISO VG220 ISO VG320
AGIP BLASIA460 BLASIA220 TELIUM VSF320
SHELL OMALA OIL 460 OMALA OIL 220 TIVEKA OIL Sc320
ESSO SPARTAN EP460 SPARTAN EP220 S220
MOBIL MOBIL GEAR634 MOBIL GEAR630 GLYGOYLE320
CASTROL ALPHA MAX460 ALPHA MAX230 ALPHASYN Pg320
BP ENERGOL GR-XP460 ENERGOL GR-XP220 ENEPGOL SG-XP320
M= (BALFHA)
NMRV 025 | 030 | 040 | 050 | 063 | 075 | 090 | 105 | 110 | 130 | 150
B3 3 4.5 74
B8 2.2 3.3 5.1
B6-B7 0.02 | 0.04 | 008 | 0.15 0.3 0.55 1 1.6 2.5 3.5 5.4
V5 3 4.5 it
V6 2.2 3.3 5.1

YONGKUN-35

NMRV




AdAIN

S X

YONGKUNMOTOR

=

9. Use's Manual

Thank you very much to chose our company's products. Before usiong, please carefully read the following instructions, and ensure
the right operations about it.

Types:
1. Worm gear reducer can be classified as flange input and shaft input by input way, and be classified as hollow shaft output, single
shaft output, double shaft output and so by output way.
2. Size series: 25, 30. 40. 50, 63. 75, 90. 105, 110, 130. 150.
Reduction ratio series(Single):5. 7.5, 10, 15, 20, 25, 30. 40, 50. 60, 80, 100.

Installation

1. Suggest the rotate soeed of worm less than 1500r/min.

2. The mounting on the machine must be stable and aviud any vibration.

3. Check the correct input efficiency, speed of rotation and output torgue according to unit nameplate, and the same direction of
rotation of the reduction unit outputshaft before fitting the unit to the machine.

4. For a shaft mounting, for reduction unit with a hollow output shaft, make sure that the cinstraint is axially free and with such play
as to ensure free movement for the reduction unit.

5. The various parts (pulleys, gear wheels, couplings, shafts, etc.) must be mounted on the solid or hollow surfaces in contact to
avoid seixure or oxidation.

6. After mounting, rotating shaft by hand must be agility and no lock.

7. Staring must take place geadually, without immediately applying the maximum load, and ensure stanble, no noise, no loosen, no
leaking oil and so on in rotation.

Lubrication:

1. Enviroment tenperature of unit is —10°C~607T. In the case og temperatures under 0T, It is necessary to heat up iubrication over
07C or use low freezing oil before operation.

2. During the early stages of service, problem of lubrication may arise due to the high level of viscosity taken on by the oil and so it is
wise to have a few minutes of rotation under no load.

3. In the case of particularly lengthy period of storage (4~6 months), if there is one.

4. Check the correct level of the lubricant throuth the indicator, if there is one.

5. The oll needs to be changed after approximately 10000 hours. This period depends on the type of service and the environment
where this reduction unit works.

6. For units supplied without oil pluges, lubrication is permanent and so they need no servicing.

Maintain:

1. Avoid to hit the shell of the reduction unit by gravitational hammer to protect it.

2. Check the correct state of installation basis, oil seals, input/output shaft and so on in the same period. Othe rvise, it is mecessary
to stop reduction unit and get rid of matter, then go on work.

3. Whenever possible, protect the reduction unit against solar radiation and bad weather.

4. Ensure the motor cools correctly by assuring good passage of air from the fan side.

Recommendation of lubricant brand:

NMRV110~150 NMRV025~105
Mineral oil Synthetic oil
TC (-5)~(+40) (-15)~(+25) (-25)~(+50)

ISO VG 1SO VG460 1ISOVG220 1ISO VG320
AGIP BLASIA460 BLASIA220 TELIUM VSF320
SHELL OMALA OIL 460 OMALA OIL 220 TIVEKA OIL Sc320

ESSO SPARTAN EP460 SPARTAN EP220 5220
MOBIL MOBIL GEARB34 MOBIL GEARB30 GLYGOYLE320
CASTROL ALPHA MAX460 ALPHA MAX230 ALPHASYN Pg320
BP ENERGOL GR-XP460 ENERGOL GR-XP220 ENEPGOL SG-XP320

The quantity of oil:(liter)

NMRV 025 030 040 050 063 075 080 105 110 130 150
B3 3 4.5 7
B8 2.2 3.3 |

B6-B7 0.02 0.04 0.08 0.15 0.3 0.55 1 1.6 2.5 3.5 5.4
V5 3 4.5 7
V6 2.2 3.3 5.1

YONGKUN-36



7k b s B
YONGKUN MOTOR
V F 2 51 47 B 3k 338 £
VF Worm Gear Speed Reducer
1. Z B F Picture of Products
O B
© Worm Gear Speed Reducer VEAE VEN

© #EEE1/7-1/2700

VF..F(FA).. VEZR:

VF..HS.. VE..P..E..HS..

YONGKUN-37



_an

A T

YONGKUNMOTOR

2. =17 %= Modelilluminate

YONGKUN-38

VF..A..
Foot mounted,overdriven

VF..N..
Foot mounted,underdriven

VF.. V..
Foot mounted,wormshaft vertical

VF..F..
Standard output flange

VF..FA..
Extended output flange

VE:P..
Side cover for shaft mounting



7K B i b

3. BUEESHAA Model llluminate
3.1 VFI4F i i 4 BY 5% =7 B Worm gear units model illuminate

VF 30 = E SS1 P71B5 B3
NO Comments

1 !Eﬁﬁﬁﬁiﬁ-ftﬁﬁ Code of worm gear units

2 R O 33 8 P BE (R AE) Central distance of worm gear units(spec)
EEEX Central distance of worm gear units(spec)
1).A:  EREE, @ EE 1). A: Foot mounted over driven
2).N: [EfiZE, GIAHET 2). N: Foot mounted under driven

3 3). V. EfEE, MHER 3). V:Foot mounted worm shaft vertical
4). F(1/2): =¥ HER 4). F(1/2): Standard output flange
5). FA(1/2): inE & H %W 5). FA(1/2): Extended output flange
6). P: im s A Fahsdes( 6). P: Side cover for shaft mounting

4 WIERREELE.... .. Speed ratio of reducer
(i=7;10;14;......80;100) (i=7;10;14;...... 80;100)

5 1), EXERTAEEIFRE e H i 1). No mark means single extension worm shaft
2). E: #E R B 15 &i H 2 2). E: Double extension worm shaft
1) EAERRTLE N 1). No mark means hole output

6 2).8S(1/2): BE#E@ HEMFAEE 2). S5(1/2): Single output shaft and position
3). DS: & [ i H & 3). DS: Double output shaft

7 1). IEC 8N =R 1). IEC Output flange
2). HS: BiEq N 2). HS: Shaft input

8 REFRAHE Installation position code

3.2 VF/VFEE 4R B8 4F ek 3% 4 BV 95 5 B3 Combination worm gear units model illuminate

VF 30/40 F -

E SS1 P71B5 CWi1

© ®E GO O O

NO i AR Comments

1 SRES A LY Code of worm gear units

2 SR R RS R 0 BE (AR AE) Central distance of worm gear units(spec)
FHEaX Central distance of worm gear units(spec)
1). A [ERZRE, GIANTHE 1).A:Foot mounted overdriven

3 2). F(1/2): EEw HEmW 2).F(1/2):Standard output flange
3). FA(1/2): InEEHEH 3).FA(1/2):Extended output flange
4). P: i E A FEh s 4).P:Side cover for shaft mounting

4 WIEARELE. ... Speed ratio of reducer
(i=240:245:315:......) (i=240;245:315......)

P 1) MR FTE BT R @ HH 1).No mark means single extension worm shaft
2). E: #F B4 [E 1= % H 3 2).E:Double extension worm shaft
1). EASERTILEGH 1).No mark means hole output

6 2).8S(1/2): BMmE HamFn & 2).85(1/2):Single output shaft and position
3). DS: & =) i H 3 3).DS:Double output shaft

7 1). IEC 8 NiETH 1).IEC Output flange
2). HS: EhEy A 2).HS:Shaftinput

8 TEFLAHE Installation position code

YONGKUN-39

YONGKUNMOTOR




S X

YONGKUNMOTOR

4. B iEHIE R K Gear Unit Selection Tables

4.1 VF..P(IEC)..1£ € 2 # Performance parameter VF..P(IEC)
Pm n, Men . Fr2 f E Page
[KW]  [t/min] [Nm] : [N] ¢ 0 Y
19.3 14 70 1600 1.1 VF30 56B5/B14 5614 47
0.06 22.5 13 60 1600 1.5
34 10 40 1650 1.9
45 8 30 1340 2.5
68 6 20 1180 2.9
90 5 15 1080 3.7
135 3 10 950 4.7
< 193 2 7 840 6.4
= 2.4 L 560 2500 0.8 VEF30/44 56B5/B14 5614 53
3.0 62 420 2500 1.0
3.9 53 350 2500 1.1
5.5 42 245 2500 1.4
2 116 720 3450 0.8 VEF30/49 56B5/B14 5614 54
25 85 540 3450 1.1
3.2 73 420 3450 1.3
43 53 315 3450 1.8
5.6 45 240 3450 2.1
22.5 19 60 1600 1.0 VF30 56B5/B14 5624 47
0.09 34 15 40 1410 1.3
45 12 30 1290 1.6
68 9 20 1140 2.0
90 7 15 1050 2.5
135 5 10 920 3.1
193 4 7 820 4.3
2z 22 40 1560 0.9 VF30 63B5/B14 6316 47
29.3 18 30 1440 1.2
44 14 20 1230 1.5
59 11 15 1170 1.9
88 8 10 1050 2.3
126 6 7 920 3.2
3.9 80 350 2500 0.7 VE30/44 56B5/B14 5624 53
5.5 62 245 2500 1.0
12.6 38 70 2300 0.8 VFa4 63B5/B14 6316 49
14.7 33 60 2300 1.2
19.1 28 46 2300 1.4
25.1 23 35 2300 1.7
31 19 28 2300 2.0
44 15 20 2300 2.6
Pk 114 aev s s o VF30/49  56B5/B14 5624 54
4.3 80 315 3450 1.2
5.6 69 240 3450 1.4
8.8 41 100 3300 1.8 VF49 63B5/B14 6316 51
11.0 37 80 3300 1.6
12.6 34 70 3300 1.8
14.7 31 60 3300 2.1
19.6 26 45 3300 2.7
24.4 22 36 3300 3.4
138 7 20 840 2.1 VF30 56B5/B14 5622 47
0.12 275 4 10 740 3.4
393 3 7 660 4.7
33 21 40 1360 0.9 VF30 63B5/B14 6314 47
44 17 30 1250 1.2
66 13 20 1110 1.4

YONGKUN-40



7k s Bk
./
YONGKUNMOTOR

F'1|\.| n, Mau f Fr.t f @ Page
[KW]  [r/min]  [Nm] : [N] =

87 10 15 1020 1.8 VF30 63B5/B14 6314 47
0.12 131 7 10 900 2.3

187 5 7 810 3.1

29 24 30 1360 0.9 VF30 63B5/B14 6326 a7

44 18 20 1250 1.1

58 15 15 1130 1.4

87 10 10 1020 1.7

124 8 7 900 2.4

18.7 34 70 3300 0.9 VFa4 63B5/B14 6314 49

21.8 30 60 2300 1.3

28.5 25 48 2300 1.6

37 21 35 2300 1.9

47 17 28 2300 2.2

66 13 20 2100 2.9

94 10 14 1870 2.9

14.5 42 60 2300 1.1 VFa4 63B5/B14 6326 49

19 36 46 2300 1.4

25 30 35 2300 1.7

31 25 28 2300 2.0

44 19 20 2300 23

62 14 14 2150 2.7

S g ala @450 0e VF30/49  63B5/B14 6314 53

5.5 94 240 3450 1.0

13.1 42 100 3150 1.2 VF49 63B5/B14 6314 51

16.4 36 80 3150 1.5

18.7 34 70 3150 1.6

21.8 30 60 3150 1.9

29.1 25 45 3040 2.6

36 21 36 2830 3.3

o =9 100 @8 06 VF49 63B5/B14 6326 51

10.9 50 80 3300 1.2

90 13 30 1020 1.1 VF30 63B5/B14 6312 a7
0.18 135 10 20 900 1.4

180 8 15 800 18

270 5 10 710 2.2

386 4 7 640 3.1

66 19 20 1040 1.0 VF30 63B5/B14 6324 a7

88 15 15 960 12

132 11 10 860 1.5

189 8 7 770 2.1

45 24 60 2300 1.2 VFa4 63B5/B14 6312 49

59 20 46 2190 1.4

77 16 35 1970 1.8

96 14 28 1770 2.1

135 10 20 1590 2.8

193 7 14 1470 2.9

e by o8 =00 08 VF44 63B5/B14 6324 49

29 a7 46 2500 1.1

38 31 35 2430 1.3

47 26 28 2270 1.6

66 20 20 2040 1.9

94 15 14 1830 2.0

132 11 10 1640 2.7

26 43 35 2340 1.1 VFa4 71B5/B14 7116 49

32 36 28 2290 1.4

45 28 20 2050 1.6

64 21 14 1830 1.9

90 16 10 1650 2.5

YONGKUN-41




E )

S

YONGKUNMOTOR

.I.J.

P M M, i ﬁ %ﬂ v
[kW]  [r/min] [Nm] [N]
16.5 54 80 3150 1.0 VF49 63B5/B14 6324 51
0.18 18.9 50 70 3150 121
22 45 60 3150 1.3
29.3 37 45 2300 1.8
37 31 36 2760 2.2
47 26 28 2560 2.9
55 23 24 2430 2.7
73 19 18 2230 3.2
15 61 60 3000 1.1 VF49 71B5/B14 7116 51
20 52 45 2790 1.4
25 43 36 2650 e
32 36 28 2450 2.1
135 14 20 840 VF30 63B5/B14 6322 a7
0.25 180 11 15 780
270 7 10 690
77 23 35 1930 1.3 VE44 63B5/B14 6322 49
96 19 28 1730 1.5
135 14 20 1550 2.0
193 10 14 1400 241
270 8 10 1300 2.9
3s 43 35 2300 0.9 VF44 71B5/B14 7126 49
47 36 28 2190 1.1
66 28 20 1970 1.4
94 21 14 1770 1.4
132 15 10 1590 1.9
189 11 7 1420 2.7
32 50 28 2300 1.0 VF44 71B5/B14 7126 49
45 39 20 2190 1
64 29 14 1980 1.3
a0 22 10 1780 1.8
129 16 7 1590 2.5
39 38 70 2650 1.1 VF49 63B5/B14 6322 51
45 34 60 2500 1.3
60 28 45 2350 1.8
75 23 36 2230 2.2
96 19 28 2070 2.9
113 17 24 1930 2.8
22 63 60 3100 0.9 VF49 71B5/B14 7114 51
29 51 45 2810 1.3
37 44 36 2670 1.6
47 36 28 2480 2.
55 a3 24 2360 1.9
73 26 18 2170 2.3
94 21 14 2010 3.2
20 72 45 3150 1.0 VF49 71B5/B14 7126 51
25 60 36 3150 1.2
32 51 28 3150 1.6
3s 46 24 2600 1.5
50 36 18 2460 1.9
64 29 14 2260 2.4
a0 22 10 2040 2.9
79 a3 35 2860 0.9 VE44 63B5/B14 7112 49
0.37 98 27 28 2720 141
138 21 20 1570 1.4
196 15 14 1400 1.5
275 11 10 1260 2.0
393 8 7 1120 27

YONGKUN-42



7k b B
Lk
YONGKUNMOTOR
F'1|\.| n, Mzu i Fﬂ fs Page
kW]  [r/min]  [Nm] [N]
0.37 it 40 =0 e L0 VF44 63B5/B14 7124 49
: 98 29 14 1690 1.0
137 22 10 1500 1.3
196 16 7 1360 1.9
9l 0 45 2270 1.2 VF49 63B5/B14 7112 51
76 34 36 2180 1.5
98 28 28 2020 2.0
115 25 24 1880 1.9
153 19 18 1720 2.3
30 73 45 2680 0.9 VF49 63B5/B14 7124 51
38 62 36 2530 1.1
49 51 28 2360 1.4
57 46 24 2250 1.4
76 37 18 2080 1.6
98 29 14 1940 2.2
137 22 10 1750 2.7
196 16 7 1570 3.4
38 67 24 2350 1.0 VF49 63B5/B14 8016 51
51 53 18 2240 1.3
65 43 14 2070 1.7
91 32 10 1930 2.0
130 23 ;s 1740 2.6
_— 141 30 20 1490 1.0 VF44 71B5/B14 7122 49
- 201 22 14 1350 1.0
281 16 10 1210 1.4
401 12 7 1080 1.9
- - o6 =090 i VF49 71B5/B14 7122 51
100 40 28 1960 1.4
117 36 24 1800 1.3
156 28 18 1650 1.6
201 22 14 1420 2.2
281 16 10 1390 2.7
401 12 s 1250 3.5
49 76 28 2170 1.0 VF49 80B5/B14 8014 51
58 69 24 2080 0.9
77 54 18 1930 1.1
99 43 14 1810 1.5
138 32 10 1650 1.8
197 23 7 1480 2.3
i = 4 1500 i VF49 80B5/B14 8026 51
92 47 10 1800 1.4
131 34 7 1660 1.8
i | BE i =4 1710 1.0 VF49 80B5/B14 8012 51
: 156 a8 18 1580 1.2
200 30 14 1480 1.6
280 22 10 1340 2.0
400 16 7 1200 2.6
100 58 14 1690 1.1 VF49 80B5/B14 8024 51
140 43 10 1540 1.4
200 31 7 1400 1.7
- 200 45 14 1370 1.1 VF49 80B5/B14 8022 51
- 280 33 10 1250 1.3
400 23 7 1130 1.8

YONGKUN-43




4A

KA

==
L

YONGKUNMOTOR

4.2 VF..HS.. 82 8 Performance parameter

VF..HS..

Mzn n, Pm n; Frz Fn Page
[Nm]  [r/min] (kW]  [r/min]  [N] [N]

12 2800 7 0.58 400 510 120 VE30 55

12 2800 10 0.41 280 620 70

14 2800 15 0.34 187 720 -

14 2800 20 0.26 140 820 E

15 2800 30 0.21 93 960 -

14 2800 40 0.16 70 1090 -

14 2800 60 0.12 47 1270 -

11 2800 70 0.08 40 1380 -

186 1400 7 0.41 200 630 140

16 1400 10 0.30 140 770 80 baid &

18 1400 15 0.24 93 910 B

18 1400 20 0.19 70 1030 &

20 1400 30 0.15 47 1200 -

19 1400 40 0.12 35 1360 -

19 1400 60 0.09 23.3 1590 -

15 1400 70 0.07 20 1600 B

18 900 7 0.30 129 730 150

18 900 10 0.22 90 900 150 VE30 55
20 900 15 0.17 60 1060 -

20 900 20 0.14 45 1200 -

22 900 30 0.12 30 1400 -

20 900 40 0.09 23 1590 =

20 900 60 0.07 15 1650 -

17 900 70 0.05 13 1700 -

20 500 7 0.19 71 920 150

20 500 10 0.14 50 1120 150 VF30 55
22 500 15 0.11 33 1320 150

22 500 20 0.09 25 1490 150

24 500 30 0.07 16.7 1700 -

22 500 40 0.06 12.5 1700 E

22 500 60 0.05 8.3 1700 -

19 500 70 0.04 7 1700 -

22 2800 7 1.1 400 950 220

22 2800 10 0.74 280 1150 220 VF44 55
22 2800 14 0.55 200 1340 220

29 2800 20 0.52 140 1490 220

29 2800 28 0.40 100 1710 220

29 2800 35 0.33 80 1870 220

29 2800 46 0.27 61 2080 220

29 2800 60 0.22 47 2290 220

22 2800 70 0.15 40 2300 220

21 2800 100 0.11 28 2300 220

29 1400 7 0.71 200 1180 220

29 1400 10 0.51 140 1430 220 VF44 55
29 1400 14 0.37 100 1680 220

39 1400 20 0.37 70 1860 220

39 1400 28 0.29 50 2140 220

39 1400 35 0.25 40 2300 220

39 1400 46 0.19 30 2300 220

39 1400 60 0.16 23.3 2300 220

29 1400 70 0.11 20 2300 220

28 1400 100 0.09 14 2300 220

39 900 7 0.63 129 1300 220

39 900 10 0.45 90 1610 220 VF44 55
39 900 14 0.34 64 1890 220

45 900 20 0.29 45 21860 220

49 900 28 0.24 32 2300 220

49 900 35 0.20 25.7 2300 220

49 900 46 0.17 19.6 2300 220

45 900 60 0.13 15 2300 220

39 900 70 0.10 12.9 2300 220

30 900 100 0.06 ) 2300 220

YONGKUN-44



7K Hi e B

L
YONGKUN MOTOR

Mzn n, 5 Pm n, Fzﬂ Fn Page

[Nm]  [r/min] ' [kW]  [r/min]  [N] [N]

41 2800 7 2 400 950 400 VF49 55

44 2800 10 1.5 280 1140 400

49 2800 14 1.2 200 1310 400

44 2800 18 0.87 156 1520 400

47 2800 24 0.73 117 1670 400

56 2800 28 0.78 100 1740 400

52 2800 36 0.59 78 1970 400

49 2800 45 0.46 62 2180 400

44 2800 60 0.34 47 2480 400

41 2800 70 0.28 40 2650 400

41 2800 80 0.25 35 2780 400

37 2800 100 0.20 28 3050 400

54 1400 7 1.3 200 1170 400 VF49 56

58 1400 10 1.0 140 1410 400

65 1400 14 0.90 100 1630 400

59 1400 18 0.60 78 1890 400

63 1400 24 0.50 58 2110 400

74 1400 28 0.55 50 2170 400 VF49 55

69 1400 36 0.42 38 2460 400

65 1400 45 0.33 31 2725 400

59 1400 60 0.25 23.3 3100 400

55 1400 70 0.21 20 3150 400

54 14000 80 0.19 17.5 3150 400

49 1400 100 0.13 14 3150 400

61 900 7 0.97 129 1370 400 VE49 55

64 900 10 0.75 90 1670 400

71 900 14 0.61 64 1920 400

68 200 18 0.47 50 2190 400

68 200 24 0.36 38 2480 400

82 900 28 0.41 32 2540 400

75 900 36 0.31 25 2880 400

71 900 45 0.25 20 3180 400

64 900 60 0.19 15 3300 400

60 900 70 0.16 12.9 3300 400

58 900 80 0.14 11.3 3300 400

52 900 100 0.11 9 3300 400

74 500 7 0.67 71 1670 400 VF49 55

74 500 10 0.49 50 2060 400

78 500 14 0.39 36 2400 400

74 500 18 0.30 27.8 2730 400

74 500 24 0.24 20.8 3080 400

88 500 28 0.26 17.9 3180 400

80 500 36 0.20 13.9 3450 400

78 500 45 0.17 11.1 3450 400

69 500 60 0.12 8.3 3450 400

69 500 70 0.11 s | 3450 400

58 500 80 0.09 6.3 3450 400

59 500 100 0.08 5 3450 400

45 500 7 0.41 71 1610 220 VF44 55

45 500 10 0.29 50 1980 220

50 500 14 0.25 36 2280 220

50 500 20 0.18 25 2500 220

55 500 28 0.16 17.9 2500 220

e 500 35 0.14 14.3 2500 220

50 500 46 0.10 10.9 2500 220

50 500 60 0.09 8.3 2500 220

45 500 70 0.07 Fi | 2500 220

32 500 100 0.04 o 2500 220

YONGKUN-45




KA

YONGKUNMOTOR

5. M2 R ~t B Outline Dimension Sheet
5.1 VF..5M# R~ Outline dimension

VF30A..P(IEC)

5He 20.5

20.5

O 14H7

¥ N\## O Input adapters
46 52
3 R
s
bHa 2 1
< \} i
) oo
’ﬁ?:»-i—% < i
N i
DET
—_— ==
N ® 8.5
M
984T 4 tH 8 Worm output shatft
3
o
i ©
o
L]
VF30N..
46 _, 52
o T HHOR
= .
w| ™ o
wl ® :
(I
o 6.5
80
IEC Der b t B M N R S
56B5 9 3 10.4 | 120 100 80 7 7
56B14 9 8 10.4 80 65 50 7 5.5
63B5 11 4 12.8 | 140 115 95 8 9.5
63B14 | 11 4 12.8 90 75 60 7 55

YONGKUN-46




7K b

YONGKUNMOTOR

o, o
o' lé =)

# N#0 Input adapters

VF30P..P(IEC)

|_|_|.|_[_]
||
[T I 1
T
@ 50hs
D82

1.5 30

5Ha 20.5 20.5

o
&
VF30F..
=
L
o 1
o |
o 1
u 1
[
IEC De- b t B M N R =
56B5 9 3 104 | 120 100 80 7 7
56B14 9 3 10.4 80 65 50 7 5.5
63B5 11 4 12.8 | 140 115 95 8 9.5
63B14 | 11 4 12.8 90 75 60 7 5.5

O 14H7

YONGKUN-47




4A

ST

YONGKUNMOTOR

# A#0 Input adapters
54 65

=

s

. 44.6

143

72

® 8.5

984T 4 tH 8 Worm output shatft
30 , 56

64
BHE 24.5 24.5

@ 18H7

w
= 415 I %
< =
i o =)
M H : ]
El ©8.5 81
52 98
90

63B5 11 4 12.8 140 115 95 10 9.5
63B14 11 4 12.8 a0 75 60 8 5.5
71B5 14 5 16.3 160 130 110 10 9.5
71B14 14 5 16.3 105 a5 70 10 7

YONGKUN-48



7K b

YONGKUNMOTOR

E-a
o' lé =)

VF44P..P(IEC)

# N#0 Input adapters
54 , 65

- @
- [ ‘ﬁ:
= o
2]
e
o
2
— 65 74
M
4T 8 HH 8 Worm output shaft
30, _ 56
4 5 64
E- @  BH8 245 | | 245
_ =
Iy ™
m b o
N 2t
E | | ®18nr
VF44F.. VF44FA..

m
-t

i

D 60H8
.
__'_'[___ _:____:I'

IEC De: b t - M N R S
63B5 11 4 12.8 140 115 95 10 9.5
63B14 11 4 12.8 a0 75 60 8 5.5
71B5 14 5 16.3 160 130 110 10 9.5
71B14 14 5 16.3 105 85 70 10 7

YONGKUN-49



4A

=

Ak hpdE

YONGKUNMOTOR

# \# 0 Input adapters

63

70

VF49A..P(IEC)

BHe 22.5

82

22.5

-

D25H7

wn i
g —RORL
g EE ‘*:.,__—_i_—_/’
® 8.5
63
110
58 4T %6 1 ) Worm output shaft 40
5 -
] p ®
_____________ [
- 8]
M6x16 | 2
E
VF49N..
63 70
B o
[
% |
o )
o ®
R : 3 B
o 8.5
63
110
IEC Der b t E M N R s
63B5 11 4 12.8 140 115 95 10.5 9.5
63B14 | 11 4 12.8 90 75 60 7 6
71B5 14 5 16.3 160 130 110 10.5 9.5
71B14 | 14 5 16.3 105 85 70 10.58 | 6.5
80B5 19 6 21.8 | 200 165 130 10 11.5
80B14 | 19 6 21.8 120 100 80 10 7

YONGKUN-50




7K b

o, o
o' .é =)

YONGKUNMOTOR
VF49P..P(IEC)
# N\#0 Input adapters
63 70
R
2
- - [——1 I
RN | b ]
w -
@ t ! ey &
N 36.5
M
4T 8 HH 8 Worm output shaft
X 82
© BHs 225 22.5
- o
l o™
Mex16 || 2 [+
O 25H7
VF49F.. VF49FA..
F1 FA1 : FA2
N ST A i
é | é :L_‘_‘—— U ““““ ‘Ii
bl " JI Wl £ = : EE——— - _______1,:5
& | | oy i\ jli% ______ i
i A -1
R W
12
85.5 115
IEC Dez b t B M N R S
63B5 11 4 12.8 | 140 115 95 10.5 9.5
63B14 | 11 4 12.8 90 75 60 7 6
71B5 14 5 16.3 | 160 130 110 | 105 9.5
71B14 | 14 5 16.3 | 105 85 70 10.5 6.5
80B5 19 6 21.8 | 200 165 130 10 11.5
80B14 | 19 6 21.8 | 120 100 80 10 7

YONGKUN-51



4A

KA

YONGKUNMOTOR

VF72A..P(IEC)
VF72A..P VF72P..P
120
40 40 116 88 120 116 88
Mz 40 Ma

114

|

2R,

i)

|

|

|
AN\ [5
(592

o g
i S

-
72

o
=
[

115

o

T
Al
s _|_|_LH_
I
72
229
125
Gz

115 ! i l25] Me k14
142 —120 10
156
VF72N..P VF72FC(FCR*)..P
120
120
40 40 116 __ a8 40 40
T
= @ = N
— T - o] . 3 :g § - . RS
T } 7 HE =
f- A o —
! ol i
=" L5
115 i
142 158 -
VF72V..P VF72F..P
120
120 72 116 88
a0 N ]
=] I —
|
| L=
jaae ‘\@L of T
"..1.
| ¥

142 —= L
111
Bus B
w «
. gl
28u7 A0u7
N
o I F‘é‘_';gﬁ'_:l, M M| M2 | N Nt | Nz | Ns | Na
! a VF72P71B5 14 16.3 5 160 130 110 12 9
2 {1 VF72P80B5 19 | 21.8 6 200 | 165 | 130 12 | 115
N VF72P90B5 24 | 27.3 8 200 | 165 | 130 12 | 115
VF72P100B5 28 | 31.3 8 250 | 215 | 180 13 | 13.5
Mes VF72P80B14 19 | 21.8 6 120 | 100 80 10 7
:| VF72P90B14 24 | 27.3 8 140 | 115 95 10 9
VF72P100B14 28 | 31.3 8 160 | 130 | 110 12 9

YONGKUN-52



7K b

YONGKUNMOTOR

5.2 VF..HS..5p 2 R <t Outline dimension

LR

Worm output shaft Input adapters

b1 b2

1“3 = I
f2
N
D1H7 D2Hs ”
T
VF30_HS 30 14 16.3 5 9 10.2 3 20 50 47 b
VF44_HS 44.6 18 20.8 6 11 12.5 4 30 54 55 =
VF49_HS 49.5 25 28.3 8 16 18 5 40 65 64.5 M6 x 16

YONGKUN-53



4A

KA

YONGKUNMOTOR

6. Mi{4 R~ 3 Accessories Outline Dimension Sheet

6.1 & i # Output Shafts

SS
L
B1 G1
B dné B B1 1 L f G b1
| | VF 30 14 30 (325 16 | 120 | M5x13 | 55 5
- D e VF 44 18 40 |42.7 | 205 |149.4| M6x 16 | 64
VF 49 25 60 [63.2| 28 |208.4| MBx19 | 82
DS
L1
B1 B1
% B ) B dne B B1 t1 L f G b1
= VF 30 14 30 (325 16 | 120 | M5x13 | 55 5
e | P —— = pie==l- © VF 44 18 40 | 42.7 | 20.5 |149.4) M6x16 | 64
::]]:!I]’:_'- VF 49 25 60 [63.2| 28 |208.4| MBx19 | 82
IEEES, STERWEHRBE, Only onrequest
6.2 1 7B Torque arm
ey D
KH
2 - o =i - B=—1
IR B 2
Without vibration—-dampening bushing
K3
K1 Kz K3 KD KE o G KH |
VF30 100 40 157.5 50 65 7 14 8 4
VFa4 100 40 157.5 50 65 7 14 8 4
VF49 100 55 172.5 68 94 7 14 4

YONGKUN-54




) 7K B i b

d YONGKUNMOTOR

7. £EEFH I Arrangements
7.1 VF.. 2% 7 (i@ Installation Positions Diagram

VF..A VF..N VF..V VF..P MESE

B3

B6

B7

B8

V5

Ve

YONGKUN-55



4A

KA

YONGKUNMOTOR

@
=

L1

iH h\lﬂ
T
::"-,.//[L'l

=
m

D KE
x DKM
o
r[i ;
7]
1
]
T
|JJ =
L V7
F;" 4
~\_._H~__""-—L
KO

KP

BFA

oFB

sda
NI, [T H

B A
\' o~ FA
l
1 o]
| -
I
-4 %}- | =
H u 3 o 5
i % !
5] = il E] _l—'—_ J
E H
gk Type A B c D E oF G H | J K L L1 | ®KE | KM | ®KN | KA
V30 30 55 205 66 80 6.5 55 80 8 50 105 52 46 82 50 65 30
VF44 44.6 64 24.5 81 98 8.5 72 90 10 52 143 65 54 99 50 65 35

VF49 49.5 82 | 225 | 985 | 124 8.5 82 110 12 63 162 70 63 |107.5| &8 94 37
VFE3 62.17 | 120 40 111 143 | 10.5 | 100 | 140 12 95 189 95 80 110 75 90 45
VF72 72 120 40 115 142 11 115 | 156 12 120 | 229 | 116 88 125 90 110 46
VF86 86.9 | 140 45 146 | 186 11 142 | 220 14 140 | 280 | 126 | 110 | 160 | 110 | 130 | 66.5
VF110 110 155 45 181 | 220 | 125 | 170 | 270 15 200 | 339 | 153 | 138 | 200 | 130 | 165 74
VF130 130 165 | 625 | 191 | 245 16 195 | 310 18 220 | 390 | 185 | 154 | 250 | 180 | 216 | 785
VF150 150 175 55 211 260 18 220 | 330 20 240 | 438 | 190 | 179 | 250 | 180 | 2156 | 83.5

W [ 6 | ko | ke | 5 [ea|ero] wrc|wen] re | A [ Fe [ Fei] u | 7 [ n i
VF30 63 41 50 MEx7 80 50 68 6.5 6 50.5 5 16.3 14 11
VF44 74 51 71 M6Ex8 110 60 87 8.5 9 60.5 90 6 20.8 18 2
VF49 79 56 80 MEx8 125 70 90 10 12 85.5 115 8 28.3 25 3

8

VF72 118 | 83 | 114 M8x14 200 | 130 | 165 | 13 | 12 85 | 111 | 8(8) [313333)28(30)| 8.2
VF86 140 | 106 | 138 | Mi0x17 | 210 | 152 | 176 | 125 | 15 151 |1105] 10 | 383 | 35 | 163
VF110 | 155 | 142 | 161 M12x21 | 280 | 170 | 230 | 135 | 20 50.5 | 172.5| 12 | 45.3 | 42 | 325
VF130 | 165 | 153 | 195 | Mi2x23 | 320 | 180 | 255 | 16 | 20 | 12 |137.5|197.5| 14 | 488 | 45 | 49

4
7
10

VF&3 115 73 98.5 M8x14 180 115 150 10.5 11 4 B6 116 28.3 25 6
5
4
10

VF150 175 180 | 218 M14x23 350 | 200 | 290 18 22 12 | 145.5| 220 14 53.8 50 80

YONGKUN-56



|

AR H i b

YONGKUNMOTOR

7.3 B o H#h{I & Position diagram for single output shaft
SS1 §S82

MEHESESMETHRER, WET
BEEinEmRREEEEERER.
In the case of specific requirements,
when ordering, specify the position
of the terminal box as shown in the
diagrarm.

YONGKUN-57



HO.10W

o) ] ‘___—:l—-?
© kit
3 4 YONGKUNMOTOR

YKRSISEM=HZ & TEH

YK series Asynchronous Motor

YKRIBEHESHEAMN2HPAMBE=HRSEHHE, AEEHTHE, BT, #EHE., 5H
MERIEESEEE, BEZERTEEN K, BEEN, STHERFTATRE, YKEJNEHHRHES
MEBESR, AHAZEBICO141,

His motor is a miniature three—phase asynchronous motor which designed newly and closed. It is
simple in structure, reliable in running, convenient in characteristic such as being excellent of technical
and economic index to safeguard, is extensively suitable for various kinds of small-scale lathes, medical
equipment, electron tube instrument and household appliances IP44, E, ICO141.

1 &4

RIRBE: lEEmEd, BEFREiR40T
i A #8iB1000m

FEESER: 50Hz

¥ E B R 380V/220V

EE YA

Service condition
Environment temperature:
vary with season, Below 40C
Eievation: not above 1000m
Rated frequency: 50Hz
Voltage: 380V/220V
Connection: Y/ A

YONGKUN-58



ARbpE

YONGKUNMOTOR

YE2/Y25RF RN R ERINER T
YE2/Y2 Aluminium series motor instruction and overall dimension

P
rd
IM B3 2
(5]
g F
I
IM B5 Rﬁwmz" :
]
o
o
—
o
=
T
IM B35 o ok B
=

YE2/Y2435=B3. B5. B35l & 4ME R~ Aluminium B3, B5. B35 motor instruction and overall dimension

e 24t R+ Mounting Dimensions 4hig R <+ Overall Dimensions

FrameNo.| o | B ] c [pJE[F]a[H] K] 2z KK P|M|N|s [T |as[ac]ap|HD] L |BZE] PR |
56 90 | 71| 36 | 9 |20 3 | 72| 56 | 6 | M4x12|1-M20x15| 120 | 100 | 80 | 7 3 [ 110 | 112 | 78 | 134 | 200
63 100 | 80 | 40 |11 |23| 4 | 85 | 63 | 7 | M4x12 [1-M20x15| 140 | 115 | 95 | @ 3 | 125 | 125 | 100 | 167 | 230 | 280 | 295
71 112 | 90 | 45 |14 (30| 65 | 11| 71 | 7 | MBx12 [1-M20x15| 160 | 130 | 110 | @ | 35 | 140 | 142 | 110 | 184 | 260 | 305 | 317
a0m 125 | 100 | 50 |19 (40| &6 | 155| 80 | 10 | MBx16 [1-M20x15| 200 | 165 | 130 | 12 | 35 | 158 | 163 | 123 | 205 | 300 | a3s5 | 355
20s 140 | 100 | 56 |24 (50| 8 | 20 | 90 | 10 | MBx19 [1-M20x15| 200 | 165 | 130 | 12 | 35 | 175 | 175 | 130 | 220 | 310 | 380 | a77
90L 140 | 125 | 56 |24 (50| 8 | 20 | 90 | 10 | MBx19 [1-M20x15| 200 | 165 | 130 | 12 | a5 | 175 | 175 | 130 | 220 | 335 | 405 | 402
100L 160 | 140 | 63 |28 | 60| 8 | 24 | 100 | 12 |M10x22|2-M20x15| 260 | 215 | 180 | 15 4 | 200 | 203 | 157 | 260 | 380 | 435 | 435
112M 190 | 140 | 70 |28 (60| 8 | 24 | 112 | 12 |Mi0x22|2-M20x15| 250 | 215 | 180 | 15 | 4 | 225 | 225 | 168 | 282 | 410 | 470 | 465
1325 216 | 140 | 89 |38 (80| 10| 33 | 132 | 12 |M12x28|2-M20x15| 300 | 265 | 230 | 15 | 4 | 265 | 268 | 190 | 3za | 470 | s40 | s522
132M 216 | 178 | 89 |38 (80| 10| 33 | 132 | 12 |[M12x2B|2-M20x15| 300 | 265 | 230 | 15 | 4 | 265 | 268 | 190 | 3za | 510 | ss0 | s62
160M 264 | 210 | 108 | 42 (110 12 | a7 | 160 | 15 |M12x28|2-M30%15| 350 | 300 | 250 | 19 | 5 | 315 | 330 | 240 | 400 | 6OS

160L 264 | 254 | 108 | 42 (110 12| 37 | 160 | 15 |M12x2B|2-M30x15| 350 | 300 | 250 | 19 | 5 | 315 | 330 | 240 | 400 | &50

YE2/Y253EB14. B34BEHl =3 R IMER T Aluminium B14., B34 motor instruction and overall dimension
HES %% R~ Mounting Dimensions SR <t Overall Dimensions

FrameNo.[ A [ B | C |[D|E|F| G| H| K z KK P M| N|S [T |AB[AC[AD[HD| L | o= e
56 an Fi | a6 9 | 20| 3 7.2 56 B M4 =12 [1-M20x 15| 80 B5 50 ME 25 110 112 T8 134 | 200
B3 100 a0 A0 11|23 4 85 63 7 M4 =12 [1-M20x15| 90 75 B0 M5 25 125 125 100 167 | 230 280 295
71 112 ap 45 14| 30| 5 11 ™ T MEx 12 [1-M20x 15| 105 85 0 ME 25 140 142 110 184 | 260 ans 317
B0mM 1256 100 50 19| 40| 6 165 &0 10 ME = 16 [1-M20x 15| 120 100 a0 ME a 188 163 123 | 205 | 300 355 355
a0s 140 100 56 |24 (50| B 20 a0 10 MBx 19 [1-M20x 15| 140 118 a5 ME a 175 175 130 | 220 | 310 380 377
oL 140 125 56 |24 | 50| 8 20 a0 10 MEBx 19 |1-M20x1.5| 140 115 a5 Mg a3 175 175 130 | 220 | 335 405 402
100L 160 140 63 |28 (60| B 24 100 12 [Mi0x22|(2-M20x 15| 1680 130 110 ME as 200 | 203 157 | 280 | 380 435 435
112M 180 140 70 |28 | 60| & 24 112 12 |Miox22|2-M20x1.5| 160 130 10 Mg a5 225 | 225 168 | 282 | 410 470 465
1325 216 140 89 |38 | 80| 10 a3 132 12 |Mi2x28|2-M20x 15| 200 168 130 | M10D 35 288 | 268 190 | 323 | 470 840 522
132M 216 178 89 |38 |80 10 as 132 12 |M12x28(2-M20x15| 200 168 130 | MO 35 285 | 268 180 | 323 | 510 580 562
160M 254 | 210 | 108 | 42 | 110] 12 ar 160 15 |Mi2x28|2-M30x15| 280 | 215 180 | M2 4 315 | 330 | 240 | 400 | 605
160L 254 | 254 | 108 | 42 | 110| 12 ar 160 15 |M12x28|2-M30x15| 250 | 215 180 | M2 4 315 | 330 | 240 | 400 | 650

YONGKUN-59



=

S X

YONGKUNMOTOR

SWLER Il 48 &% &% #F F b 1
SWL Worm Gear Screw Lifter

1. EfmBE K Picture of Products

O W AR AT FH P
@ Worm gear screw lifter
© #ELk1/5-1/36

SWL-T

SWL-8

g
—
-—
-
-
—
-
-
-
—
-

YONGKUN-60



7K B i b

YONGKUNMOTOR

@yl

o' .E =)

2. EESAERBA Product Introduction

2.1 SWL RIEsmisHTAMR (X2TFIE) ;

22 BREHEMEE. BHE/IER,

2.3 REHE, BXE;

24 FIREKS. SakK;

2.5 AFEA. THREDWGHE, BEESEIIE;

26 FEEERN, b =HEMER;

27 B§HEEZ, FRAESRNETCES N EESS, haTLIAFEH;

28 BEATREEHNBE. BZERATAS. #. BFE, k7, BE. LIEEAT%.

2.1 SWL series worm gear screw lifter (other name is Jack);

2.2 Compact structure, small size;

2.3 Easy mounting, varied types;

2.4 High reliability. Long service life;

2.5 With the function of ascending, descending, thrusting, overturning;

2.6 Can be applied in one unit or multiple units;

2.7 Wide motivity. It can be drive by electrical motor and manual force;

2.8 Itis usually used in low speed situation, widely used in the fields of metallurgy, mechanical, construction,
chemical, irrigation works, mediat treatment.

3. BIEEE AR Model Introduction

SWL D 100-12-A R-300-B-P

SWL ﬁﬁ‘n‘ﬂ:ﬁ SWL—%H%%%F&&
Products code: SWL-worm gear linear actuator
D WAEEETRX: D FEMEN, BXAE-RRR
Connector of input shaft: D—-With motor frange, Non-code-basic
100 Hig A a0 100
Specification expressed by the center distance of two pair worm gear 100
fEEhtk: 12
12 Ratio: 12
HERAFXNRTE: A, B-EAXE, C, D-ItiEHER E, F-EBHESBER. R “REFX
A Mounting option code: A, B-Basic Model, C. D-Screw fluctuate without rotation,
E. F- Screw rotate without fluctuation. More information from mounting option
R SAFEMBEANARE: R YEER). HEEFLK), s BERLN). TERIEERR), #R "EaER"

Code of screw head: R—-Column type. H-Bolt hole type, S-Screw type. T-Copinhg type

#4F4742: £/100, 200, 300, 400, 500, 600, 800, 1000mmBFEFIE,
300 REFEAELEE WEEHERETE, LAEM

Tetal 8 species model: 100, 200, 300. 400, 500, 600, 700, 800, 1000mm.
Choose according to using situation. If other model needed, canbe made to order

migE: SWLREIIHHFA, B, C=#, SWLDRFI£FA, B, C. DHE, ¥R "#WiEREkT"

B Shaft directionB: SWL series have A, B and C three species,
SWLD series have A, B. C and D four species
P EE PHER EREBATER

Safeguard pipe: With safeguard pipe, Without safeguard pipe

YONGKUN-61



=

KAt

YONGKUNMOTOR

4. £33 Mounting Option

BEARR IEEHE ISR AR SR
Basic Model Screw fluctuate without rotation Screw rotate without fluctuation

Nk

L E&,

1. EFEX: RSM@HRESHETLTES, EREERABRRLESN,
MIER: BITTEFRER, FEEESN, FRULAMFHIEESNER.

2, IEHEMER: ERTHREERTERSSEIARRRHLESNISS.

3. AREFARMZ=[MRRTRE, MEARDHRESMER., KMERGITEY, RHBIBY, HITER
R~EF, BMWBERAZEAN, THRIRFHSHBR.

Explain:

1. Basic Model: Screw fluctuate with rotation. This is the installation for basic screw lifter.

#Notice: There will be rotation force when screw is ascending and decending. So it's need to prevent rotation.
2. Screw fluctuate without rotation: work under the situation than the shofe and hav't connection and

the life can't rotate.
3. Screw rotate without fluctuation: To get the longer travel, this prodel screw rotate without fluctuation is

an option, which screw rotate and nut move. If longer travel shaft and with bracket will archien high efficing.

5. B $5 [5) % ;= Express of Shaft Orientation

5.1 SWLERF##EmFR R
5.1 Express of SWL series bearing orientation

5.2 SWLD&Z|#iE @ F R
5.2 Express of SWLD series bearing orientation

YONGKUN-62



i

=9
i}

8]

YONGKUNMOTOR

6. A # BE 1 BB AI 28 Capacity and Model Selection

iR
A

Model
size

F 8 @

N IR
1800r/min
Input shaft revolution
speed 1800r'min

N

1500r/min
Input shaft revolution
spead 1500¢min

AN DR
1200r/min
Input shaft revolution
spaad 1200rmin

AN1EiE
900r/min
Input shaft revolution
spaad 900 min

AEERE

600r/min
Input shaft revolution
spaad GO0 min

DL L

300r/min
Input shaft revolution
spead 300rmmin

AE|EFH D
(kw) | (ka)
Litter

froce
kgl

Madel
sizre
(kow)

MIHE | EH N
(kw) | (kg
Lifter

froce
(LI:1]

Madel

size
[k}

NI &S
(kw) | (kg
e | e
i dlfal. i

MINEE|EF N
(kg)
Lifter

Irace

kgl

size
ew)

ANIE|EFH
(kw) | (ka)
Model | Lifter

size froce
(k) LE1]

(/i)

Hnlt‘;
Spee

[m':’:&ln]

AIhE| @A N
(kw) | (kg)
Il_il'bﬂ'
i¥s)

SWL35

1/5

0.69 | 500

0.64 | 550

700

0.63 | 900

0.46 | 1000| 0.60

1000

1/10

0.37 | 500

0.37 | 550

700

0.37 | 950

0.37 | 1000 0.30

1350

1/20

0.37 | 600

0.37 | 700

900

0.37 [1200| 0.23

0.19|1350| 0.15

0.19 | 1350

SWL40

1/6

0.98 | 700 | 1.80

0.93 | 800 | 1.50

0.88 | 950 | 1.20

0.91|1300| 0.90

0.84 | 1800 | 0.60

0.42 | 1800 0.30

112

0.66 | 950 | 0.90

0.64 (1100 0.75

0.61|1300| 0.60

0.57 | 1650 | 0.45

0.46 | 2000| 0.30

0.37 0.15

1/24

0.37 | 950 | 0.45

0.37 ({1100| 0.38

0.37 (1300 | 0.30

0.37 | 1650 | 0.23

0.37 | 2000| 0.15

0.19 0.08

SWL50

1/6

1.39| 900 | 1.80

1.28 | 1000 1.50

1.24 11200 1.20

1500 | 0.90

0.87 | 1700 0.60

0.54 | 21001 0.30

112

1350 0.90

1.01 (1500( 0.75

0.98 | 1800 | 0.60

0.87 | 2150 | 0.45

0.58 | 2150 0.30

0.37 | 2500 0.15

1/24

0.78 | 1800 | 0.45

0.72 | 2000 0.38

0.69 | 2400 | 0.30

0.55 | 2550 0.23

0.42 | 2800| 0.15

0.37 | 2850 0.08

SWL60

1/8

212 |1300| 1.80

1.97 | 1450| 1.50

1.85 | 1700 1.20

1.72 | 2100 0.90

1.66 | 3050 | 0.60

1.31 0.30

116

1300 0.90

1.04 | 1450| 0.75

0.98 (1700 | 0.60

0.95 | 2200 | 0.45

0.87 | 3050 0.30

0.69 0.15

1/32

0.80 | 1750 0.45

0.75 | 1950 0.38

0.69 (2250 | 0.30

0.64 | 2800 | 0.23

0.63 |4100| 0.15

0.48 0.08

SWLe0B

1/8

2.00 | 1300 1.80

1.86 | 1450 1.50

1.75|1700| 1.20

1.62 | 2100| 0.90

1.57 | 3050 | 0.60

1.24 | 4800| 0.30

1116

1.06 | 1300| 0.90

0.98 | 1450 0.75

0.93 (1700 | 0.60

0.89 | 2200 | 0.45

0.83 | 3050 0.30

0.65 | 48001 0.15

1/32

0.75 | 1750 0.45

0.70 | 1950 0.38

0.65 [ 2250 | 0.30

0.61|2800| 0.23

0.59 | 4100| 0.15

0.46 | 6400 0.08

SWL70

110

2.66 | 1400 1.80

2.42 (1850( 1.50

2.25 (1950 1.20

2.12 | 2450 | 0.90

1.93 | 3350| 0.60

1.41 0.30

1/20

1.42|1600| 0.90

1.47 | 1850| 0.75

1.37 | 2250 0.60

1.28 | 2800 | 0.45

1.18 | 3850| 0.30

0.86 0.15

1/40

2400( 0.45

1.17 | 2800 0.38

1.09 | 3350 0.30

1.07 | 4400 0.23

0.93 | 5750| 0.15

0.69 0.08

SWL100

112

3.62 | 1850 1.80

3.51|2150]| 1.50

3.39 | 2600 1.20

3.18 | 3250 | 0.80

2.94 | 4500 0.60

2.09 | 6400] 0.30

118

2.65|1800] 1.20

2.68 | 2300 1.00

2.57 (2750 | 0.80

2.45 | 3500 0.60

2.19 | 4700 0.40

1.56 | 6700 0.20

1/36

1.66 | 2200| 0.60

1.63 | 2600 0.50

1.60 | 3200 0.40

1.47 | 3900 0.30

1.36 | 5400( 0.20

1.20 | 9600| 0.10

SWL120

112

1975 1.80

4.02 [ 2300( 1.50

3.81|2725| 1.20

3.80 | 3625 | 0.90

3.48 | 4975 0.60

2.48 | 7050 0.30

118

3.20 |2126] 1.20

3.20 | 2550 1.00

3.04 | 3025 | 0.80

3.03 | 4025 | 0.60

2.74 | 5450 0.40

1.94 | 7725| 0.20

1/36

2.14 | 26256 0.60

2.07 [ 3050 | 0.50

1.98 | 3650 | 0.40

1.99 | 4875 0.30

1.80 | 6600 | 0.20

1.40 103001 0.10

SWL130

1/7

9.47 | 2100 3.60

9.17 | 2450 3.00

9.02 | 2850| 2.40

8.58 | 4000 | 1.80

8.20 | 5450 1.20

5.84 | 7750] 0.60

114

5.76 | 2350 1.80

5.71|2800| 1.50

5.67 | 3300 1.20

5.39 | 45560 0.90

5.06 | 6200 0.60

3.57 | 87501 0.30

1/28

4.07 | 3050 0.90

3.89 | 3500 0.75

3.91 4100 0.60

3.65 | 5850 | 0.45

3.48 | 7800 0.30

2.45 |1100Q) 0.15

SWL150

1/8

16.3 | 3500| 3.60

16.1 4000 | 3.00

15.8 | 5400 2.40

15.1 |7100| 1.80

14.8 | 9850| 1.20

9.70 |12850 0.60

116

4300( 1.80

11.6 | 5400| 1.50

10.5 | 7200 1.20

11.00| 9450 | 0.80

9.62 11800 0.60

7.08 |17350 0.30

1/32

8.65 | 5500| 0.90

9.55 | 6800 | 0.75

7.35 (10000 0.60

7.53 14300 0.45

7.02 115750 0.30

5.80 |26050 0.15

YONGKUN-63




KA

YONGKUNMOTOR

7. E B~ Application Example

7.1 WZEH:E Two sets linkage

] TH
| model T model

e

L9 19138

Drive fountainhead Arithmoneter Arithmoneter

Drive fountainhead

7.2 WWEH;E Four sets linkage

Arithmoneter

Drive fountainhead

U HEY
U model H model

FTEEE RT SR

Arithmoneter Arithmoneter

Drive fountainhead

BB &h il
Drive fountainhead

YONGKUN-64



7K b

YONGKUNMOTOR

7.3 J\EHi®) Eight sets linkage

HEIGE R A

H development model

s E#iR

2HHY
Two H model

FHETEE

Arithmoneter

Hmes

Corner tool

EEEhIR

y Drive fountainhead 1L

8. F B i Y
81 BEBHEFE

Ws=Wmaxxfs
Ws——-ERHET Wmax—EXHif fs——(EARY (FRMR1)
F1 [EHREH fs Table 1 using coefficient(fs)

ERIR FREA, aEREE)N | ERTERS, aERNhE | EWEAS, aEREX

using situation Smooth load;light load inertia light shock load; mid load inertia strong shock load; heavy load inertia

ERREY 1.0~1.3 T T 1.5-3.0

using coefficient

S2HEEARHEMNEENTNGE
W=Ws/(S x fd)
W--EZ2EHT Ws——-E82WT S--HH=H (d-BSHZEH (FEHE2)

F2 BEYRE ¥ fd Table 2 linkage coefficient(fd)

EEEIZ=® Linkage quantity 1 2 3 4 5-8
{ERRE Using coeffient 1 0.95 0.9 0.85 0.8

YONGKUN-65



KAt

YONGKUNMOTOR

=

8.3 K FFITIRIERE

EXESEBHTEHEYE, SEREHEEGHDHEEEER, REBERXIBENEFTE.
8.4 B E H BEHEBYSR

RIWE, AEERE, T, BBRYFREAFERIY (FETESE "6, Rl HERNSY” ),
8.5 ARt E (FFE %3, 4#FTEMALER, Efi(unit) : mm)

#+3 BIFFTE Table3 screw calculate

mg | v | EER ”Sﬁ;ﬁﬁ;i?\rﬂénd ' Hﬁyﬁaﬁégaigénd 'H;ﬁ;}*ptﬁéﬁazﬂ;nd 'T%ﬁﬁ;ci-\:ﬂand

Model | Screw dia | et e @R-14SC [FR-8F-S0 BR-LHBHD [FR-ERHBH] BR-LAE | FR-GR-AC| MR-LTE |FR-GR-TF
SWL35 | Tr26x5 L+55 L+150 | #f%-40 | L+204165 |@R-5520 | L+165 | @& -55| L+135 | #f-25
SWL40 | Tr32zx6 | L+60 L+180 | #-50 | L+25+195 |i@f-65-25 | L+195 | @&-65 | L+160 | @R-30
SWL50 | Tr38x8 L+60 L+180 | ##-50 | L+25+195 |#f-65-25 | L+195 | @&-65 | L+160 | &R-30
SWLB0 | Tr46x8 | L+65 L+220 |#{-60 | L+324255 |#fR-95-32 | L+225 | @&-65 | L4200 | EE-40
SWL60B | Tr52x8 L+65 L+220 |#R-60 | L+32+255 |if-95-32 | L4225 | @R-65 L+210 | #&-50
SWL70 | Tré5x 10 | L+75 L+260 |#8R®-80 | |+35+295 |@&-115-35| L+250 | @R-70 | 4235 |ME-55
SWL100 | Tr75x 12 L+300 || -80 | |4+444355 |@&-135-44| L4205 | @|-75 | 4085 |#F&-65
SWL120 | Tr80x 12 L+360 |#®-100| | 4544410 |#R-150-54| L4355 | @|-95 | |,330 |@E-T0
SWL130 | Troox 14 L+435 |#E-120| |4p4+480 |H#R-165-64| L+430 | BE&-115| L4300 | BE-75
SWL150 | Tr100x 16 L+495 |#R-150| |,70+545 |@8&-200-70| L+485 | @R-140| |,445 | @ER-100

8.6 A E B Z
Per=fm x (d*/L.)*
FEFE{RPer>w x St(—figSt=4)
Per——44 4T ER S8 (N) M--RERHEEREMERL) d--EFESE(mm)(EER#RS)
L-—1E A M EERE(mm) W--BEFHEEESEEN) St--Z & ZH(—MREA)

F4REZHE(fm) Table4 Length coefficient

i S fm=10X10" EEBRE#SHEA fm=2.5X10" [EEE EM L H S EE fm=20X10°

Two ends sustation One shaft end fixed the other free Base shaft end fixed the other side uphold or fixed

8.7 M HEIERK X
nc=96x 10" x fn x d/L,*
ns=nl/i FEFE{Rnc>ns
nc——#H 7F AEE(r/min)  ns——4 4 EIE 8 E(r/min) d--44HF EE(mm) i--EEk
nl——8 NS EIEEE(r/min) In——-XERHGEEREMEE) L,—-FHEMEBER(Mm)

YONGKUN-66



7K b

YONGKUN MOTOR

8.8 MINIhZEE#Z

p=n,xp,xwx107/(60xix n) MEMWEP <Pm

p—-ET WA E(KW) p,—-44+F 4885 (mm) n,——# X\ B [0 8 85 5% (r/min)

—EEEHE(KN) i——mE#ElE n--fREeuE
#+5 LAFEED Table 5 Diameter of screw bottom

Ej: SWL35 | SWL40 | SWL50 | SWL60 | SWLE0B| SWL70 | SWL100 | SWL120| SWL130| SWL150
- EHIEE 20.5 25 31 37 43 54 62 67 74 82
Diameter of screwing bottom

*6 HEEHIn Table 6 Sustaion coefficient(fn)

Wik EAB fn=0.36 MikEE fn=1.56

Two shaft end free Two shaft end fixed

8. Model Selection for Screw Lifter

8.1 Total current load calculate

Ws=Wmaxx fs

Ws—-currentload Wmax—-maxload fs—-usingcoefficient ( more information from tablet )
8.2 Current load calculate of unit screw lifter

W=Ws/(S x fd)

W-—unit currentload Ws-—currentload S —-linkage quantity

fd—-linkage coefficient(more information from table 2)
8.3 Stroke of screw option

Choose adequate stroke of screw with concerning enough screw movement inertia...
8.4 Choose screw model

Choose screw model according to capacity, lifting speed, stroke and driveing fountainhead.
8.5 Screw calculate(more information from table 3)
8.6 Screw stability check

Per=fmx (d*/L.)* Should insure Pcr>w x Sf(usual Si=4)

Per——Screw critical loading(N) fm-- Length coefficient(more information from table 4)
d——diameter of screw bottom(mm)(more information from table 5) L.——working length(mm)
W-——Current load of unit screw lifter(N) Sf-—security coefficient(usual Si=4)

8.7 Screw speedcheck
ne=96 x 10°x fn x d/L.?

ns=nl/i should insure ne>ns
ne——screw allowed speed(r/min) ; ns——screw screwing speed(r/min);

YONGKUN-67



© kit
L
3 4 YONGKUNMOTOR

=

8.8

d--diameter of screw bottom(mm); i—-ratio; nl-—input shaft screwing speed(r/min);

fn——Sustation coefficient (more information from table 6); L,—-the distance between sustation(mm).
Input power check

P=n,xp,xwx107/(60xix n) shouldinsure p <p...

P—-needed input power(KW); p,——axial pitch distance(mm) n,——input shaft screwing speed(r/min);
w——current load(KN); i——ratio n ——general efficiency

9. ¥ E%IH

9.1

WERERARENRBESENELMEZ HENAF RS W ENRTOA MR,

9.2 FrEEE TIEREEHRERREMAEBESRMEEE-15T~80T;
9.3 AAMHAGEMAER, BESABEMRMNATTIREE(T%) U4 EREMNE, 7EFEBiE20%;
- 18 1E B A0 TAE RS R .
AR T SRR I ERE B ERBRERES 0
9.4 WARBEREMNESRE N ;
9.5 ABER LLEEHGE, EERITERANSSTERAAHIELE, SHLMHEHEE;
9.6 FHEEHEIE AR
& AT EREFRKENASET
Usingsituation Norain and water
RE=%R BB R — A TR AR IR
Ambient air Dust: usual condition for mill
WERE
Ambient temperature -15C-40T
HEHRE 85%KL T
Comparatively humidity Below 85%
9.7 ARKRITIER—MAAFARERE, SAHEEWETR, FNEEELE.
9. Notes
9.1 Select the model with proper ratio and load;

9.2

9.3

9.4
9.5
9.6
9.7

The surface temperation of speed reducer and nut should be controlled in —~15C~807TC, when the screw
lifter is working;
The screw lifter cannot work all the time. The unit is thirty mins for duty ratio of unit one and can not

exceed 20%;

. Time under working/cycle
Duty ratio (T%)= x 100%
Time under working/cycle + interval/cycle

Insure adequate drive fountainhead;

Theoretically screw has self-lock function, but the self-lock function may not work in heavy shock condition;
Using situation for screw lifter;

Transverse load is not allowed when screw lifter is working. If transverse load occured, pls add
direction setting.

YONGKUN-68



7K b

YONGKUNMOTOR

10. SWLR 5| 1885 44 AT F BEM S e R E R <

Mounting Dimensions of SWL Series Worm Gear Screw Lifter

" HA
. H A
L % £
ver N~ Txv ¢ *
g Cr—
fcéff;«’% b thj:rﬁ”ﬁ
=| w f“ | M = %
e | T‘ R
T L I G ‘_V % ALLI
K cc _|
sy
" S B
RA :
rher
R & |
[ |
cpl e
E | | \‘ I
Ly T
&)
0 e s o R
: o T
E o Y
n-4TD
LT
w
Hii5mFx SHAFT DIRECTION "T‘%
IR | KR | BT S i
' =

YONGKUN-69



S X

YONGKUNMOTOR

HATEES Type of screw head
% g A gl ee | oo | 2 | & U RE HE S T8
Model | B £ G K M | Txv | RA| HA | HD | sA | sB | TA |n-TD
size
ol e . = RB | HB | HE sc | T8 | TE
RC | HC sb | Tc | TF
170 | 86 | 40 | oo | | 50 . 26 | 16 | 4o5 | w | 28 | 88 4-410
SWL35 | 110 | 111 | 15 & 90 165 | 20 & | 150 | 70 | 135
'—.
30 | 12 | 10| 38 135 | %3 | 55 | 12| B | = | 40| 10| 25
220 | 80 | 50 | ., | . | 57 1 32 | 20 | 5| w | 32 | 98 4410
SwL40 | 140 | 125 | 18 g 110 195 | 25 % | 180 | 80 | 160
= faY]
40 | 12 | 130 | %2 155 | X35 | e [ 14 [ 8 | = | 50 | 13 | 30
220 | 90 | 50 | g | o | 60 - 38 | 25 | yo5 | 1 | 35 | 114 [4-412
SWL50 | 140 | 140 | 18 8 | 120 195 | 25 S | 180 | 90 | 160
'—.
a0 | 14 | 130 | #° 170 | ®%¥3° | 65 | 16 | ® | = | 50 | 13 | 30
256 | 100 | 60 | .o - 90 o5 46 | 92 | 55| w | 40 | 138 4-¢14
SwLeo | 176 | 190 | 20 € | 140 205 | 32 & | 220 | 100 | 200
I_
a0 | 18 40| ™ 230 | 8% | 65 | 20| ¥ | = | 60 | 16 | 40
264 | 110 | 60 | oo | | % - 52 | 36 | pg5 | w | 45 | 148 |4-418
SWL60B | 184 | 190 | 20 § | 150 205 | 32 & | 220 | 110 | 210
'—
a0 | 18 | 160 7 230 | %% | es | 24 | ¥ | = | 60 | 20 | 50
st6 |10 | 70 | Lo | o | - 65 | 44 | po5 | w | 55 | 178 4421
SWL70 | 216 | 210 | 25 8 | 180 250 | 35 & | 260 | 125 | 235
so | 18 |180]| ™ | F |2s0| %4 | 70 | 26 | '® | = | g0 | 25 | 55
390 [ 190 | 85 | 400 | & | 110 ” 75 | 36 | gee i 65 | 188 | 4421
swL100 | 260 | 260 | 30 B | 230 205 | 44 S | 300 | 140 | 285
= —
65 | 22 | 220 | B | ¥ [ 310 %5 | 75 | 35 | 13 80 | 28 | 65
420 | 210 | 100 | 150 [ o | 130 a5 80 | 60 | .0 i 70 | 218 |4—@5
swL120 | 200 | 305 | 30 S | 260 355 | 54 3 | 360 | 170 | 330
R s
65 | 22 | 260 | 5| & | 355 | %5 | 95 | 38 | 190 100 | 30 | 70
480 | 240 | 120 | (o0 | < | 160 5 90 | 70 | 4a0 i 75 | 248 |4—@7
SwL130 | 340 | 355 | 30 % 300 430 | 64 S | 435 | 200 | 390
=
70 | 22 | g5 | ¥ | F | q15 | #2235 | 145 | 45 | 190 120 | 32 | 75
580’ (2500 128 | : 170 o 100 | 80 | ., i 100 | 358 |6—427
SWL150 | 360 | 385 | 35 S | s20 485 | 70 S | 495 | 280 | 445
T S
05 | 27 | 3a5 | 5| F | 455 | 1#*55 [ 140 | 58 | 2% 150 | 35 | 100

YONGKUN-70



o' .é =)

7K b

YONGKUNMOTOR

11. SWLDZ 5l d &R AR AT H BEHE S e R & R ~F

Mounting Dimensions of SWLD Series Worm Gear Screw Lifter

p I L —
V 3
0 5 A7 1% RN AB | AH | LA | B | tc | te| z]| o Q XV
Model size Flange size
SWLD40 71B5 110 | 72 | 130 | 110 | 160 4 M8 | ¢14 | 33 5x16.3
SWLD50 71B5 110 | 80 | 130 | 110 | 160 4 M8 | ¢14 | 33 5x16.3
80B5 19 | 43 6x21.8
SWLD60 128 | 100 | 165 | 130 | 200 | 4.5 | M10
90B5 $24 | 53 8x27.3
80B5 19 | 43 6x21.8
SWLD60B 132 | 100 | 165 | 130 | 200 | 4.5 | M10
90B5 $24 | 53 8x27.3
SWLD70 90B5 158 | 120 | 165 | 130 | 200 | 4.5 | M10 | ¢24 | 53 8x27.3
SWLD100 100/112B5 195 | 150 | 215 | 180 | 250 5 | M12 | ¢28 | 63 8x31.3
SWLD120 100/112B5 210 | 165 | 215 | 180 | 250 5 | M12 | ¢28 | 63 8x31.3
SWLD130 132B5 240 | 194 | 265 | 230 | 300 5 | M16 | ¢38 | 83 10x41.3
SWLD150 132B5 275 | 218 | 265 | 230 | 300 5 | M16 | ¢38 | 83 10x41.3

YONGKUN-71



=

© kit
L
3 4 YONGKUNMOTOR

T 51| 92 fie £ &5 b 18 (m) 25

T Series Spiral Bevel Redirector

1. B B Picture of Products

O BiEEHEWWER T..-1-LR(O) T..-D-LR(0)

© Spiral bevel gear cenits

© #EEk1/1-5/1 |
T =10 HD) T..-U-LR(O)

YONGKUN-72



AR H i b

YONGKUNMOTOR

il

2. EE ik Product Overview

1.TEFEEEEgEmeE, E84, 258, #EHE1:1. 1.5:1, 2:1. 2.5:1, 3:1, 41, 512N E TR HEBE, FTHoxE
98%,

Q.HEE\ ﬁﬁm\ Emm\ ﬁﬁﬂiﬁ.ﬁo

3.EMHEERH A ERENE, MENSEEDER, MARRE. RE/N, RFHK,

4 EIRLEARAMR, WA, SEEHBEE, SN, R HSEE,

1. T Series spiral bevel redirector with various types are standardized, all ratios of 1:1,1.5:1,2:1,2.5:1, 3:1,4:1 and
5:1 are actual ones. Average efficiency is 98%.

2. There are one input shaft, two input shafts, unilateral output shaft and double side output shaft.

3. Spiral bevel gear can rotate in both directions and transmit smoothly, low noise, light vibration, high performance.
4. If ratiois not 1:1, ifinput speed on single—extendalbe shaft, output speed will be reduced; ifinput speed on double
- exfendable shaft, output speed will be reduced.

3. EEmm#E# B Product Structural View

1. 8 Housing

% 10 2. 8 E Housing of input shaft

3. {8 Inputshaft

4. Ht#h Output shaft

5.8 #E G Drive spiral bevel gear

4 2 6. HtEh#E T Driven spiral bevel gear
1 O 9 7. #% Bearing seat of input shaft
5 h 3 8. i #& Bearing seat of output shaft
9. #ii& Bearing
g 10. 54 Seal
10 7 11. §@# Oil gauge
4. ¥ @ IH BE Function of Rotation
1 4&8 One single—extendable shaft 2 ## 2single—extendable shafts
28 2-extended shaft 38 3-extended shaft 38 3-extended shaft 48 4-extended shaft

3] ] _L
)
_F _T 3

—— —

R : BEAEETEAE, e, Specification: Direction of rotation of output shaft varies with that of input shait.

YONGKUN-73



S X

YONGKUNMOTOR

5. EmM NMEETEEERR (1: 158 LR ER R)

Please pay attention to speed relationship when selecting input shaft
(there is nothing in case of ratio of 1:1)

i i# Reducing 1#1# Increasing
50r/min # 100r/min &
E AR A 1000/ minfF X Y Eh 4 M 1000/ minkd
Hi i H50r/min 4 H200r/min
QOut put speed is 50rpm Out put speed is 200rpm
when input speed is 100rpm when input speed is 100rpm
100r/min 200r/min

6. B8 K =R /7 i% Expressed method of Model
T6 — 1:1 — I-LR-O0 — B3

24 F if Mounting position

i & Shaft arrangement

iE Ltk Ratio
U2 E £ ¥ 35 48 [5) 3% Spiral Bevel Redirector

7. EE% Weight Table

B Type T2 T4 T6 T7 T8 T10 T12 T16 T20 T25

m(kg) 2 10 21 32 49 78 124 188 297 488

YONGKUN-74



i

>
-

YONGKUNMOTOR
8. & [m 2%Fr (N)3 Redirector Fr(N) Table
T2 T4 T6 qfs T8 T10 T12 T16 T20 T25
iN n1
{rinin)

R (ARG |t | MR UG | ARh | GRTH ) AESH | GRWR | MERE | GO | AERE | tAT) RGN BRUR | HEWh | GRUA | MRS MRGH| ME

1450 | 265 | 216 | 833 | 951 |1911)|2450(2450|3136|3234|3381|4165| 4508 | 5096 | 5586 | 10633| 10976

1150 | 323 | 235 | 882 [1029|2058)|2597(2744|3234|3479|3626|4459| 4851 | 5488 | 6076 | 11368 11760( 15386 | 15608

870 | 402 | 255 | 960 |1127|2205|2842(2980|3381|3773(3969|4851| 5292 | 5880 | 6566 | 12446| 12740(16660| 17150| 24794 25480

580 | 549 | 314 [1078(1323|2499|3185(3381|3822|4263(4459|5488| 5880 | 6713 | 7301 | 14014| 14504(18816 | 19404|28028(28910

1:1 400 | 637 | 353 |[1372|1715|3185|3528(4018|4900|4851(5978|g272| 7056 | 7742 | 8134 | 15680| 16170(21070| 21756 31360( 32340

300 | 696 | 392 (1519(1960|3430|3528|4410|5537|5243|6958|6713| 7987 | 8232 | 9065 | 17150| 17640)23422| 24108| 34300| 35280

200 | 784 | 441 [1911(1960|3430|3528(5096|6272|7889(8820(8575| 9604 | 9261 [10290| 19600| 19894(25970 | 26754|38612( 39788

100 | 980 | 588 |1911(1960|3430|3528|5086|6272(8428|8820(9996|11760|11368|12593| 22540 22540|28420| 32928| 39200 49000

10 | 980 | 588 |1911|1960(3430|3528|5096|6272|8428|8820|9996|11760)11858| 14504 | 22540| 22540| 28420 | 3332039200 49000

1450 1078)|1960)|2548)|2842|3430|5390|4361| 7987|5194 | 9212 | 5978 |10486| 5978 | 12152| 7693 | 14602
1150 1078(1960(3038|3087|4067|5978|5006|8820|5174(|10486] 7252 [12152| 6419 | 13083( 8771 |17934|12985|24647
151 870 1078(1960|3430]|3332|4753|6076|6076|8820|7448(|11760] 8869 |14504| 6958 | 14210( 9506 | 18453|13573(29400
- 580 1078(1960|3430|3528|5096|6174|7644|8820/9555(|11760]11466| 14504 | 7840 | 16072(10780 | 22001| 15680( 33222
I 400 1078|1860|3430)|3528|5096|6272|8428|8820|9996(11760/11858| 14504 | 8820 | 17934(12005| 24598| 17642| 37142
25 300 1078(1960(3430|3528|5096(6272|8428|8820(9996(|11760|11858| 14504 | 9604 | 19600(13132 | 27342| 19159(40474
1 200 1078(1960|3430|3528|5096|6272|8428|8820/9996|11760]11858| 14504 | 10829| 22148(14798 | 30282| 21658 | 45766
100 1078|1960|3430|3528|5096|6272|8428|8820|9994|11760|11858| 14504 | 13328 22540( 18228 | 33320| 26656 49000
10 1078(1960|3430)3528|5096|6272|8428|8820/9996|11760]11858| 14504 | 22540 22540(28420 | 33320|39200(49000

i AR EARA L R AIFHE
Notes: Ifthere is lower output speed, please choose the maximum Frin above table.

9. W ER &N 5% {8 Z 2(f1 Service Factor f1

SXRERME (/B ) Operatingtime/day ( hour)
BREHE
Load characteristic
=2 2~10 10-24
#5 & #Uniform 1.00(1.00) 1.00(1.25) 1.25(1.50)
— iz @ EModerate 1.00(1.25) 1.25(1.50) 1.50(1.75)
E & BHeavy 1.25(1.50) 1.50(1.75) 1.75(2.00)

fiE: EEEMFES. FiERBEIORM E, FERERANE.
Note: Flease use these data inside the bracket when number of starts and stops/hour is greater than ten times.

YONGKUN-75



KAt

YONGKUNMOTOR

=

.é B,

10. #AIE | Selection for Example

AEAWLEE196N.m, —BER, SREFIIEVNE, EREHs=1.25, SE&HHNEHEE300r/min, #tb4
MBI,
it SN
SEEHOR/AFAEAEHMN2=M2Xfs=196X1.25=245N.m
1gEEmE EAMHEnR S adB245N.m, 298, 94 E R EiRB 15 HE0RMEINE. rol19fsm s R
EMABE. 245N.m+245N.m+245N.m=735N.m, {Rig@EHsEHh%k, BEIET12,
H2REE R BASMAE245N.m, EEMIESEEEEAME., Ll & 8 MEB245N. m+245N.m=490N.m, #i%{H
Bk hk, MEET10,
#OPHEERE BTE—EaYCETEE, MRERNE245N.mEL ERPF, RiEBEEIsEHRTIETS,

-

Torque values of three gear reducer are 196Nm, uniform, operate continuous for 8 hour per day, thatis, useful

factor fs=1.25, input speed of 300 rpm, ratio of 1:1.

Calculate according to formula:
Required torque of any of gearbox MN2 is equal to 245N.m or larger.

No.1 gearreducer No.1gearreducercarry torque 245N.m, but No.2 and No.3 gear reducer need transfer torque
through No.1, Consequently No.1 gear reducer should carry torque 735N.m (245N.m+245N.m+
245N.m), select T12. according to transmission capacity table.

No.2 gearreducer No.3 gearreducer still transfers torque of No.3 gear reducer besides torque of 245N.m, so, the
total torque is 490N.m(245N.m+245N.m), select T10 according to transmission capacity table.

No.3 gearreducer Required torque is more than 245N.m because of only load C according to transmission capacity
Table select T8.

YONGKUN-76



>
-

i

YONGKUNMOTOR
11. {5 Eh8E 13k Transmission Capacity Table
; N1 T2 Ta T6 17 T8
: (r/min) [TaN(N-m)| PIN(kw) | T2N(N-m)| PIN(kw) | T2N(N-m)| P1N(kw) | T2N(N-m)| PIN(kw) | T2N(N-m)| P1N(kw)
1450 11.6 1.79 31.9 4.94 96.0 149 |
1150 11.7 1.43 34.1 4.19 103 12.7 150 18.4 305 37.5
870 12.1 1.12 37.2 3.46 113 10.5 164 15.2 312 29.0
580 12.1 0.747 39.5 2.45 119 7.35 184 11.4 319 19.8
11 400 12.3 D.524 40.2 1.72 122 5.20 195 8.34 326 14.0
300 12.3 0.396 40.5 1.30 123 3.93 198 6.35 331 10.6
200 12.4 0.2286 41.2 0.880 124 2.66 201 4.30 338 7.23
100 12.7 0.136 41.9 0.448 127 1.36 206 2.20 346 3.70
10 13.0 D.014 43.0 0.046 132 0.141 214 0.228 361 0.386
1450 i i 12.1 145 15.0 185 19.1
1150 122 9.96 147 12.0 188 15.4
870 23 7.66 150 9.30 191 11.8
580 126 5.23 153 6.32 197 8.14
3 B 400 128 3.66 155 4.41 200 5.70
300 129 2.77 157 3.35 203 4.34
200 131 1.87 160 2.28 204 2.91
100 134 0.957 163 1.16 210 1.49
10 139 0.099 169 0.12 218 0.155
1450 12.1 0.94 42.8 3.32 102 7.90 137 10.6 180 14.0
1150 12 0.74 43.4 2.67 104 6.39 139 B8.55 183 11.3
870 12 0.56 43.8 2.04 105 4.88 141 6.56 187 8.70
580 11.9 0.37 44.4 1.38 108 3.34 144 4.47 191 5.92
2:1 400 12.2 0.26 45.1 0.96 109 2.33 146 3.12 194 4.15
300 11.9 0.19 45.5 0.73 110 1.76 148 2.37 196 3.14
200 12.2 0.13 46.1 0.49 111 1.18 149 1.59 198 2.12
100 11.2 0.06 46.6 0.25 114 0.608 152 0.812 202 1.08
10 28.1 D.015 48.5 0.026 116 0.062 157 0.084 209 0.112
1450 96.2 5.97 113 6.99 184 11.4
1150 97.2 4.78 115 5.64 185 9.11
870 99.0 3.68 116 4.30 188 7.00
580 100.0 2.48 118 2.92 192 4.76
2.5:1 400 100.9 1.73 120 2.05 185 3.34
300 102.9 1.32 121 1.55 197 2.0
200 103.9 0.888 123 1jide s 200 1.71
100 104.9 0.448 123 0.528 203 0.867
10 107.8 0.046 126 0.054 208 0.089
1450 93.6 4.84 105 5.42 159 8.20
1150 94.8 3.88 106 4.34 160 6.55
870 95.9 2.97 108 3.34 163 5.04
580 97.6 2.02 109 2.25 166 3.42
351 400 99.0 1.41 111 1.68 168 2.39
300 100 1.07 111 1.18 169 1.80
200 100 0.712 113 0.803 171 1.22
100 102 0.363 115 0.409 173 D.618
10 104 0.037 118 0.042 179 0.064
1450 80.6 % o 93.4 3.62 124 4.80
1150 81.5 2.50 94.3 2.90 125 3.83
870 82.4 1.92 95.9 2.23 127 2.95
580 84.1 1.30 96.9 1.50 129 2.00
4:1 400 B85.1 0.91 08.7 1lnls] 131 1.40
300 86.1 0.69 98.3 0.79 131 1.056
200 B86.0 0.46 101 0.54 134 0.71
100 B7.7 0.23 101 0.27 135 0.36
10 89.3 0.02 101 0.03 140 0.04
1450 52.0 1.61 57.4 1.78 68.7 2.13
1150 §2.5 1.29 58.0 1.43 69.2 1.70
870 53.2 0.99 59.0 1.10 70.4 1.31
580 54.2 0.67 59.6 0.74 i 0.89
51 400 54.9 0.47 60.7 0.52 72.86 0.62
300 55.5 0.36 60.4 0.39 72.9 0.47
200 55.4 0.24 61.7 0.26 74.1 0.32
100 56.5 0.12 62.9 0.13 75.1 0.16
10 57.6 0.01 64.5 0.01 77.8 0.02

1. HEFNEWEFRIFEE100/minks, FEH100/ming 8 i#.
2, @Y EERBEENAREERAHAEN, WREAWESIB14500/ mink, ML EEFH,

YONGKUN-77




KA

YONGKUNMOTOR

; N1 T10 Ti2 T16 T20 T25
(r/min) [ Tan(N‘m)| P1N(kw) | T2N(N'm) | PIN(kw) | T2N(N'm)| PAN(kw) | T2N(N'm) | PAN(kw) | T2N(Nm)| P1N(kw)
870 479 44.6 726 67.5
580 493 30.6 802 49.7 1343 85.9
1:1 400 504 21.5 821 35.1 1499 66.1 2538 112
300 513 16.4 835 26.8 1637 54.1 2744 20.8
200 521 11.1 852 18.2 1784 39.3 3126 69.0 5390 119
100 535 5.72 875 9.36 1842 20.3 3205 35.3 5439 60.0
10 561 0.599 919 0.983 1940 2.14 3205 3.53 5713 6.30
1450
1150 380 31.2 601 49.2
870 389 24.1 656 40.7
580 396 16.4 699 28.9
1.5:1 400 4086 11.6 711 20.3
300 411 8.78 724 15.5
200 417 5.95 736 10.5
100 426 3.04 754 5.37
10 443 0.316 785 0.56
1450 305 23.6 516 40.0 921 73.7
1150 309 19.0 516 31.7 938 59.5 1607 102
870 315 14.6 516 24.0 958 46.0 1646 79.0 3224 155
580 322 10.0 524 16.3 980 31.3 1695 54.2 3332 107
21 400 328 7.02 538 11.5 1000 22.0 1725 38.0 3420 75.4
300 332 5.33 543 8.71 1009 16.7 1754 29.0 3479 57.5
200 338 3.61 551 5.89 1029 11.3 1784 19.7 3557 39.2
100 344 1.84 563 3.01 1058 5.84 1833 10.1 3646 20.1
10 357 0.191 586 0.313 1098 0.605 1921 1.06 3822 2.1
1450 293 18.2 507 31.4
1150 298 14.7 514 25.3
- 870 302 11.2 523 19.5
580 310 7.68 535 13.3
2.5:1 400 315 5.38 545 9.32
300 317 4.06 552 7.08
200 321 2.75 560 4.79
100 326 1.40 568 2.43
10 336 0.144 588 0.251
1450 270 14.0 458 23.5 904 48.2 1529 82.3 2935 158
1150 275 11.3 464 19.0 920 38.9 1561 66.6 3045 130
870 279 8.66 469 14.6 940 30.1 1598 51.6 3135 101
580 285 5.89 480 .92 960 20.4 1644 35.4 3246 69.9
3:1 400 288 411 490 6.98 978 14.4 1672 24.8 3317 49.3
300 291 3.11 495 5.29 990 10.9 1701 18.9 3372 37.6
200 294 2.10 501 3.57 1005 7.38 1733 12.9 3449 25.6
100 300 1.07 510 1.82 1038 3.82 1777 6.60 3537 13.1
10 308 0.110 527 0.188 1076 0.40 1865 0.69 3713 1.4
1450 241 9.35 434 16.8 850 34.3 1452 58.7 2798 113
1150 246 7.54 441 13.5 865 BT 1483 47.5 2892 92.6
870 249 5.78 448 10.4 884 21.4 1518 36.8 2978 e
580 254 3.93 456 7.07 902 14.6 1562 25.2 3084 49.8
4:1 400 257 2.74 465 4.97 919 10.2 1588 17.7 3151 35.1
300 259 2.08 470 3.77 930 7.8 1616 13.5 3204 26.8
200 262 1.40 476 2.54 944 5.3 1646 9.17 3276 18.2
100 267 0.71 485 1.30 976 2.7 1688 4.70 3360 9.36
10 275 0.07 501 0.13 1011 0.3 1772 0.49 3527 0.98
1450 136 4.21 296 9.18 814 26.3 1391 44.9 2631 85.0
1150 138 3.39 301 7.39 828 21.2 1420 36.4 2771 71.0
870 140 2.60 305 5.68 847 16.4 1454 28.2 2853 55.3
580 143 1.77 311 3.86 864 11.2 1496 19.3 2954 38.2
5:1 400 144 1.23 318 2.72 881 7.85 1521 13.6 3018 26.9
300 146 0.93 321 2.06 891 5.96 1548 10.3 3069 20.5
200 148 0.63 325 1.39 905 4.03 1577 7.03 3138 14.0
100 150 0.32 331 0.71 935 2.08 1617 3.60 3218 717
10 155 0.03 342 0.07 969 0.22 1697 0.38 3378 0.75

1. lf speed is less than 10rpm,please choose 10rpm.
2. [ Plese contact us, when order the model with ash sign or that input speed is more than 1450rpm

YONGKUN-78



7K b

YONGKUNMOTOR

12. SR ENMEEARMNER. REAUERTER
The relationship between shaft arrangements and direction of shaft rotation,
Mounting position and dimension sheets

T2-T16
I-LA I-R I-L LLR(O)
20 O e L e
I-LR-0 I-R-0 I-L-0 Ba Be Vs 1 gl a SRR _ iz
. o
= 1)
£ o, - — —
‘@ F: nseS /| ba Tﬁn a || Ly
Ba Br Vs b a |
I
1-uD I-u I-D 1-UD(O)

T
=
7

1-U-

T
[=]
i

m
k3

¥ V| o

m
)

=
]

L
I

el

U-LR-O

=
|
-

=
1
-

o || R 9 |

U-L-0

¢

4]
@

¢

[14]
-

@ 3

D-LR-O

7
o

7
o

D-L

g || Do

D-L-0

m
@

4]
b

--LR

| i

H-LR-O

@

3

g < | o x| B D |

.@Bj

i |

=0

m
k3

e

I-1-UD

¢

I-1-UD-0

¥

=

N

I-l-U-0

4 @

I-1-0-0

4

:
E

U-D-LR-O

@
.
b

- b

U-D-R-0

U-D-L

G

U-D-L-0

o
o

¥ vV

w
I-I-LR{O) -
R T
—IJL!_‘L \\k_:ﬂ J‘—U.'ﬂl—
1-1-UD(0) LAB
=t
T
U-D-LR{O)

(Tl

YONGKUN-79




Sl

>

5

it

YONGKUNMOTOR

T20-T25
— T2 | T4 | T6 | T7 | T8 |T10 |T12 | T16 | T20 | T25
., XA Ei L LE ) Al 48 | 53.5| 81 88 |[110.5| 120 | 130 | 150 | 195 | 235
=
- ~n 4 : i - £ a 100 | 155 | 190 | 210 | 235 | 285 | 340 | 390 | 490 | 580
L] o @ = || a0 | 84 | 125 [ 152 | 174 | 195 | 240 | 200 | 330 | 430 | 520
« olo % e 4 ]
S, m As & f 'y b 100 | 155 | 190 | 210 | 235 | 285 | 340 | 390 | 410 | 480
h$ ~ "
Txm@ b0 84 | 125 | 152 | 174 | 195 | 240 | 290 | 330 | 110 | 130
1-UD{O) L
i - L E] G 10 17 17 20 23 25 32 40 32 35
i ALQ
g = ] D 58 76 | 115 | 125 | 159 | 155 | 168 | 193 | 220 | 270
I ] ;{4‘ @ﬁ = |° d(h7) 15 19 25 32 40 45 50 60 72 85
I o
=52 el LR |0 E 33 | 38 | 50 | 62 | 75 | 90 | 100 | 105 | 105 | 130
o [+ =11} L1
% ?m = e1(h8)xiF| 04x3 [155x5]|190x5|220x5 |250%5 [305x5 | 370x5 | 420x7 |360x10{430%10
U-LR(O} g L f 5 2 17 13 18 10 0 10 10 10
o M o h 52 76 90 | 100 | 115 | 140 | 175 | 200 | 245 | 290
AT
| B L 124 | 180 | 222 | 265 | 308 | 360 | 415 | 455 | 545 | 660
‘, ] 5 2::5\} L1 82 |117.5| 146 | 178 |210.5| 240 | 270 | 290 | 330 | 400
[&" F =
-@__W . N T L2 52 76 87 | 97 |1145| 133 | 160 | 186 | 217 | 255
I L4 114 | 156 | 214 | 226 | 266 | 300 | 350 | 420 | 510 | 60O
JE. L E LAB | 248 | 360 | 444 | 530 | 616 | 720 | 830 | 910 | 1090 | 1324
% 3 = n 4 4 4 4 4 4 4 4 8 8
o “: l I‘ r 5 6 8 10 12 14 14 18 20 22
= ]
x5 I| [I T |~ s 9 10.5 | 14 14 14 16 21 25 21 24
i UL [T] 1 17 | 215 28 | 35 | 43 | 485 |535| 64 | 765 | 90
bolbolbol | Ay 1]
b a0
lxm 3
HEE. WEE 41505 1E, HERGTE, SRRTEIMT:
Mote: When ratio iz 4:1 and 5:1, dimenssion of output shaft is changeless, but that of input iz changed as follows:
LAB
I-I-LR(O) ' T6 T T8 | Ti0 | T12 | T16 | T20 | T25
—
égﬁ T d(h7) | 19 22 28 32 36 50 55 70
E 38 50 62 62 75 100 | 105 | 105
L 210 | 253 | 295 | 332 | 390 | 450 | 545 | B37
LaB 41 L, 134 178 | 212.5 | 242 270 300 345 | 400
[ETsl(s]}
Laa 420 | 566 | 590 | 664 | 780 | 900 | 1090 | 1274
e r 6 6 8 10 10 14 16 | 20
= t 21.5 | 24.5 31 35 3g 53.5 59 74.5
d(h7) | 19 22 28 32 36 42 50 60
U-D-LA(G) E 38 50 62 62 75 90 100 105
L 210 | 253 | 295 | 332 | 390 | 440 | 540 | B37
%2 2 : L, 134 178 | 212.5| 242 | 270 | 300 | 340 | 410
'Q;zﬁ 5:1
L.s 420 | 566 | 590 | 664 | 780 | 880 | 1080 | 1262
| r 6 6 8 10 10 12 14 18
t 21.5 | 24.5 31 35 39 45 53.5 64

YONGKUN-80




AR H i b

YONGKUNMOTOR

YONGKUN-81



1 s Juosonfl an f

ST

YONGKUN MOTOR

YONGKUN-82




AR H i b

YONGKUNMOTOR

YONGKUN-83

ST v [roronf e | ey



	RV蜗杆修改-01.jpg
	RV蜗杆修改-02.jpg
	RV蜗杆修改-03.jpg
	RV蜗杆修改-04.jpg
	RV蜗杆修改-05.jpg
	RV蜗杆修改-06.jpg
	RV蜗杆修改-07.jpg
	RV蜗杆修改-08.jpg
	RV蜗杆修改-09.jpg
	RV蜗杆修改-10.jpg
	RV蜗杆修改-11.jpg
	RV蜗杆修改-12.jpg
	RV蜗杆修改-13.jpg
	RV蜗杆修改-14.jpg
	RV蜗杆修改-15.jpg
	RV蜗杆修改-16.jpg
	RV蜗杆修改-17.jpg
	RV蜗杆修改-18.jpg
	RV蜗杆修改-19.jpg
	RV蜗杆修改-20.jpg
	RV蜗杆修改-21.jpg
	RV蜗杆修改-22.jpg
	RV蜗杆修改-23.jpg
	RV蜗杆修改-24.jpg
	RV蜗杆修改-25.jpg
	RV蜗杆修改-26.jpg
	RV蜗杆修改-27.jpg
	RV蜗杆修改-28.jpg
	RV蜗杆修改-29.jpg
	RV蜗杆修改-30.jpg
	RV蜗杆修改-31.jpg
	RV蜗杆修改-32.jpg
	RV蜗杆修改-33.jpg
	RV蜗杆修改-34.jpg
	RV蜗杆修改-35.jpg
	RV蜗杆修改-36.jpg
	RV蜗杆修改-37.jpg
	RV蜗杆修改-38.jpg
	RV蜗杆修改-39.jpg
	RV蜗杆修改-40.jpg
	RV蜗杆修改-41.jpg
	RV蜗杆修改-42.jpg


 
 
    
   HistoryItem_V1
   Splitter
        
     列：： 2
     行： 1
     重叠： 0.000000 points
     重叠到出血： 无
     仅将横向页分页： 无
      

        
     2
     1
     0
     0
     0.0000
     638
     209
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     1
            
                
         AllDoc
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base



